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TIME and WIIIII( (d) 3 days

Q2.

A can do a piece of work in 15 days and B in 20 days. If
LCM Method they together work on it for 4 days, then the fraction of
This can be understood in terms of the above example in the work that is left is :
the following way: (a) 8/15
Let us assume that total work to be equal to the LCM of (b) 7/15
the days taken by Amit and Vinit (i.e., of 10 and 15). () 1/4

(d) 1/10
Assume work = 60 units Q3.

Work done by Amit in one day = 5 units
Work done by Vinit in one day = 4 units
Work done by both of them in one day when working

A can cultivate 2/5 th of aland in 6 days and B can
cultivate 1/3 th of the same land in 10 day; rking

together = 9 units together A and B can cultivate 4/5 th o lan

So, the number of days taken by both of them when (a) 4 days

working together = 60/9 = 6 é days (b) S days
(c) 8 days

Application of STD table (LCM Method) g‘l 10 days

- - 4.

::Il:;:izt(ngor Time (T) glst;all::zr(: zl.CM) A can finish a piece of worki days and B can do the

LCM/T LCM/S LCM same work in ha time taken by A, Then working to
their what pa me work they can finish in a
day?

Example (@) 1/6

A can finish a work in 24 days, B in 9 days and C in 12 (b)

days. B & C start the work but are forced to leave after 3 a1

days. The remaining work done by Ain ? 7

Solution:

LCM of 24,12,9 = 72 (total work)

Find speed column (follow red arrow) K ,Band C can complete a piece of work in 24, 6 and 12
days respectively. Working together, they will complete

Given—>

B+C work for 3 days the same work in:
(follow 2nd table) (a) 1/4 day

So combined speed of B+C=8+6=14

(b) 7/24 day

D =14x3=42

Remaining work = 72-42=30 ’S (c) 24/7 days
A's speed =3 (d) 4days
Time taken by A to do remaing work = 0 Q6.

A and B can do a piece of work in 12 days. B and Cin 15

days and C and A in 20 days. If A, B and C work together,
A they will complete the work in :
2 (a) 5days
2 (b) 47/6
(c) 10 days
(d) 47/5 days
B+C Q7.
A and B can do a piece of work in 72 days. B and C can do
A itin 120 days. A and C and do it in 90 days. If In how
many days all three together can do the work?
(a) 80 days
(b) 100 days
Q1. (c) 60 days
A can do a piece of work in 63 days and B in 9 days. How (d) 150 days
many days will both take together to complete the work Q8.
? A man, a woman and a boy can complete a job in 3,4 and
(a) 7.5 days 12 days. How many boys must assist 1 man and 1
(b) 5.4 days woman to complete the job in 1/4 of aday ?
(c) 3.6 days @1
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(b) 4

(c)19

(d) 41

Qo.

A and B can do a piece of work in 10 days, B and Cin 15
days and C and A in 20 days, C alone can do the work in :
(a) 60 day

(b) 120 days

(c) 80 days

(d) 30 days

Q10.

A can do a piece of work in 4 hours; B and C can do it in 3
hours. A and C can do it in 2 hours. How long will B alone
take to do it?

(a) 10 hours

(b) 12 hours

(c) 8 hours

(d) 24 hours

Q11.

A can complete a piece of work in 6 days while B can
complete the same work in 12 days. If they work
together and complete it, the portion of the work done
by Ais A:

(@) 1/3

(b) 2/3

(c) 1/4

(d) 1/2

Q12.

(a) 10 days

(b) 12 days

(c) 15 days 4

(d) 20 days

Q13.

A and B can complete a piece k in@5 days and 10
days respectively. They contr complete the work
for Rs. 30,000. The shar e contracted money
will be:

(a) Rs. 18,000

(b) Rs. 16,500

(c)Rs. 12,5

(d) Rs.

Q14.

A can do 1/2 of a piece of work in 5 days, B can do 3/5 of
the same work in 9 days, C can do 2/3 of that work in 8
days. In how many days can three of them together do
the work?

(a) 3 days

(b) 5 days

(c) 9/2 days

(d) 4 days

Q15.
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A and B together can do a piece of work in 10 day
alone can do it in 30 days. The time in which B alone
doitis: 0
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A man and a boy received Rs. 800 as wages for 5 days for
the work they did together. The man's efficiency is twice
of the boy. What are the daily wages of the boy?
(a)Rs.160/3

(b) Rs.169/3

(c)Rs.133/3

(d)Rs.121/3

Q16.

A daily-wages labourer was engaged for a certain
number of days for Rs. 5,750; but being absent on some
of those days he was paid Rs. 5,000. What were his
maximum possible daily wages?

(a) Rs. 125

(b) Rs. 250

(c) Rs. 375

(d) Rs. 500

Q17.

A and B can do a piece of work i ays,Band Cin 8
days and C and A in 6 daysqHow long would B take to do
the same work a ?

(a) 24 days .

of a piece of work in 20 days;He then calls in

ey finish the remaining work in 3 days. How long
alone will take to do whole work ?

(a) 75/2 days

(b) 37 days

(c) 40 days

(d) 23 days

Q19.

A does 7/10 part of work in 15 days. After that he

completes the remaining work in 4 days with the help of

B. In how many days will A and B together do the same

work ?

(a) 30 days

(b) 24 days

(c) 18 days

(d) 36 days

Q20.

A and B can do a piece of work in 30 days while B and C

can do same work in 24 days and C and A in 20 days.

They all work together for 10 days. How long will a take

to finish the remaining work ?

(a) 30 days

(b) 24 days

(c) 18 days

(d) 36days

Q21.

A and B undertook to a piece of work for Rs. 4500. A

alone could do it in 8 days and B alone in 12 days. With

the assistance of C they finished the work in 4 days. Then

C’s share in the total money is :

www.jkchrome.com
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(a) Rs. 2250

(b) Rs. 1500

(c) Rs.750

(d) Rs. 375

Q22.

A alone can complete a piece of work in 12 days. A and B
together can complete it in 8 days. How long will B alone
take to complete the work?

(a) 24 days

(b) 18 days

(c) 16 days

(d) 20 days

Q23.

A and B together can do a piece of work in 5 days and A
alone can do it in 8 days. B alone can do the same piece
of workin:

(a) 34/3 days

(b) 63/5 days

(c) 40/3 days

(d) 84/5 days

Q24.

If A and B together can complete a piece of work in 15
days and B alone in 20 days, in how many days can A
alone complete the work?

(a) 60 days

(b) 45 days

(c) 40 days

(d) 30 days

Q25.
A can complete 1/3 of aworkin 5 daysand B, 2/5 o
work in 10 days, In how many days both A and

together can complete the work ?

(a) 10 days

(b) 75/8 days ) 2
(c) 44/5 days

(d) 29/4 days

Q26. ¢

A alone can do a piece of wor ys and B alone is 8
days, A and B undertooKto dgyitfor Rs. 3200. With the
help of C they comp e work in 3 days . How much

is to be paid to

(a) Rs. 375
(b) Rs. 400
(c) Rs.

(d) Rs. 800

Q27.

A man can do a piece of work in 5 days, but with the help
of his son, he can do it in 3 days. In what time can the son
do it alone ?

(a) 7 days

(b) 8 days

() 15/2 days

(d) 13/2 days

Q28.
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A and B together can do a piece of work in 8 days, B and
C together in 10 days, while C and A together in 6 days, if
they all work together the work will be completed in :
(a) 15/4 days

(b) 24/7 days

(c) 240/47 days

(d) 40/9 days

Q29.

A and B together can complete a piece of work in 8 days,
B alone can complete that work in 12 days. B alone
worked for four days. After that how long will A alone
take to complete the work ?

(a) 15 days

(b) 18 days

(c) 16 days

(d) 20 days

Q30.

A and B together can coniplete agpiece of work in 8 days
and B and C together in 1 11 of the three together
can complete the k in 6 days. A and C together
complete the ¢
(a) 8 days
(b) 10 days

ysS

B together can complete a piece of work in 18

ays, A and C together in 12 days and B and C together in
9 days, then B alone can do the work in:

(a) 18 days

(b) 24 days

(c) 30 days

(d) 40 days

Q32.

A can complete 2/3 of a work in 8 days and B can
complete 3/5 of the work in 6 days. In how many days
can both A and B together complete the work?

(a) 3 days

(b) 60/11 days

(c) 15/4 days

(d) 23/8days

Q33.

P can complete 1/4 of a work in 10 days, Q can complete
40 % of the same work in 145 days. R, completes 1/3 of
the work in 13 days and S, 1/6 of the work in 7 days.
Who will able to complete the work first?

(@ P

(b) Q

(e R

(d) S

Q34.

A, B and C individually can do a piece of work in 10 days,
12 days and 15 days respectively, If they start working
together, then the number of days required to finish the
work is:

www.jkchrome.com
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(a) 16 days

(b) 8 days

(c) 4 days

(d) 2 days

Q35.

A and B together can do a piece of work in 12 days. While
B alone can finish it in 30 days. A alone can finish the
work in:

(a) 20 days

(b) 25 days

(c) 15 days

(d) 18 days

Q36.

A, B and C can complete a piece of work in 12, 24 and 36
days respectively. They will together complete the same
work?

(a) 61/11days

(b) 4 days

() 72/11 days

(d) 6 days

Q37.

Two men undertook to do a job for Rs. 1400. One of them
can do it alone in 7 days and the other in 8 days. With the
assistance of a boy they together completed the work in
3 days. How much money will the boy get?

(a) Rs. 300

(b) Rs. 325

(c) Rs. 275

(d) Rs. 250

piece of work in 6 days and B alone in 8 days I at
time would they complete it together king 8 h
day ? ¢

(a) 3 days

(b) 4 days

(c) 2.5 days 4

(d) 3.6 days

Q39.

Working 5 hours a n complete a piece of work in

8 days and wor day, B can complete the

rking 8 hours, a day, they both

(b) 4 days
(c) 4.5 days

(d) 5.4 days

Q40.

A and B can do a piece of work in 10 days, B and C can do
itin 12days. C and A in 15 days. In how many days will C
finish it alone ?

(a) 24 days

(b) 30 days

(c) 40 days

(d) 60 days
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Q38.
While working 7 hours a day, A alone can comp
h
a
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Q41.
A man, a woman and a boy can complete a piece of work
in 20 days, 30 days and 60 days respectively. How many
boys must assist 2 men and 8 women so as to complete
the work in 2 days?

(a)8

(b) 12

(c) 4

(d)6

Q42.

If A and B together can complete a piece of work in 12
days, B and C together in 15 days and C an gether in
20 days, then B alone can complete the k in®

(a) 30 days

(b) 25 days

(c) 24 days

(d) 20 days

Q43.

One man and one women together can complete a piece
of work in 8 day an alone can complete the work in
10 days. In ho yS can one woman alone
complete

and B can separately do a piece of work in 6 days and
12 days respectively. How long will they together take to
do the work ?
(a) 9 days
(b) 18 days
(c) 6 days
(d) 4 days
Q45.
Acando 1/6 ofaworkin 5 days and B can do 2/5 of the
work in 8 days. In how many days, can both A and B
together do the work?
(a) 12 days
(b) 15 days
(c) 13 days
(d) 20 days
Q46.
A can do a piece of work in 20 days and B in 40 days. If
they work on it together for 5 days, then the fraction of
the work that is left is:
(@) 5/8
(b) 8/15
(c)7/15
(d) 1/10
Q47.
A can do a piece of work in 20 days and B can do the
same piece of work in 30 days. Find in how many days
both can do the work ?
(a) 16 days

www.jkchrome.com
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(b) 14 days

(c) 10 days

(d) 12 days

Q48.

A and B together can dig a trench in 12 days, which A
alone can dig in 28 days : B alone can dig itin :

(a) 20 days

(b) 21 days

(c) 22 days

(d) 23 days

Q49.

A sum of money is sufficient to pay A's wages for 21 days
and B’s wages for 28 days. The same money is sufficient
to pay the wages of both for:

(a) 49/4 days

(b) 14 days

(c) 49/2 days

(d) 12 days

Q50.

A, B and C together earn Rs. 150 per day while A and C
together earn Rs. 94 and B and C together earn Rs. 76.
The daily earning of ‘C’ is :

(a) Rs. 56

(b) Rs. 20

(c) Rs.34

(d) Rs.75

Q51.

A work can be completed by P and Q in 12 days. Q and R
in 15 days, R and P in 20 days. In how many days Rialo,

can finish the work ?

(a) 10 days
rkin 8 s, Band C

(b) 20 days
(c) 30 days
it in®days, A, B and

(d) 60 days 4
Q52.

A and B can complete a piece of
can do itin 12 days, Cand A
C together can complete itin :
(a) 4 days
(b) 5 days
(c) 6 days
(d) 7 days
Q53.
Aand B r do a piece of work in 10 days, B and
C together ca the same work in 6 days, A and C
together can do the work in 12 days. Then A, B and C
together can do the workin :

(a) 28 days

(b) 14 days

(c) 40/7 days

(d) 58/7 days

Q54.

A and B working together; can do a piece of work in 9/2
hours. B and C working together can do it in 3 hours. C
and A working together can do itin 9/4 hours. All of

www.jkchrome.com
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them begin the work at the same time. Find how much
time they will take to finish the piece of work.

(a) 3 hours

(b) 2 hours

(c) 2.5 hours

(d) 3.25 hours

Q55.

A and B can do a piece of work in 8 days, B and C can do
itin 24 days, while Cand A can do itin 60/7 days, in
how many days can C do it alone?

(a) 60 days
(b) 40 days
(c) 30 days
(d) 10 days
Q56.

A and B can do a piece of work
itin 12 days, A and C can deyit)i
A take to do it alone?

(a) 24 days
(b) 20 days
(c) 40 days

can finish a piece of work in 20 days.
ays and C and A in 12 days, then A, B, C
finish the same work in :

(c) 60/7 days

(d) 7/60 days

Q58.

A and B can do a piece of work in 72 days, B and C can do
itin 120 days, and A and C can do it in 90 days. When 4,
B and C work together, how much work is finished by
them in 3 days.

(a)1/40

(b)1/20

(c)1/30

(d)1/10

Q59.

A skilled, a half skilled and an unskilled labourer work
for 7, 8 and 10 days respectively and they together get
Rs. 369 for their work. If the ratio of their each day work
is1/3:1/4:1/6, then how much does the trained
labouror get (in rupees) ?

(a) 164

(b) 102.50

(c) 201.50

(d) 143.50

Q60.

A can complete a piece of work in 'm' days and B can
complete it in 'n' days. How many days will it take to
complete the work if both A and B work together ?

(a) (m+n) days

(b) (1/m x 1/n) days

www.jkchrome.com
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m+n

(© — days
mn

(d) — days
Q61.
A can do a piece of work in 4 daysand B can do it in 12
days. In how many days will they finish the work, both
working together ?
(a) 4 days
(b) 6 days
(c) 2 days
(d) 3 days
Q62.
Acando 1/4 of aworkin 10 days. B can do 1/3 of the
work in 20 days. In how many days can both A and B
together do the work?
(a) 30 days
(b) 32 days
(c) 24 days
(d) 25 days
Q63.
Raj and Ram working together do a piece of work in 10
days. Raj alone can do it in 12 days. Ram alone will do
the work in:
(a) 20 days

(b) 40 days

(d) 60 days

Q64.

A, B and C are employed to do a piece of work for Rs.
575. A and C are supposed to finish 19/23 of the w

(a) Rs. 210

(b) Rs. 100

(c) Rs.200 ¢

(d) Rs. 475

A and B can do a piece of work in da%B d Ccando
itin 60 days, Aand Ccando i ays. C alone can do
itin:

(a) 90 days

(c) 120 days

(d) 150da

Q66.

A and B to can complete a piece of work in 12

only half a day daily, then in how many days A and B
together will complete the work ?

(a) 10 days

(b) 20 days

(d) 15 days

Q67.
A can do a piece of work in 20 days which B can do in 12
days. B worked at it for 9 days, A can finish the

(c) 50 days

together, Amount shall be paid to B is: 0
Q65.

(b) 180 days

days. A alone can complete in 20 days. If B does the work
(c) 11 days

remaining work in:
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(a) 5 days

(b) 7 days

(c) 11 days

(d) 3 days

Q68.

Two men undertake a job for Rs. 960. They can complete
itin 16 days and 24 days respectively. They work along
with a third man and take 8 days to complete it. Then the
share of the third man should be:

(a) Rs. 155

(b) Rs. 165

(c)Rs. 160

(d) Rs. 150

Q69.

If there is a reduction in the nu
factory in the ratio 15: 11 and
wages in the rate 22 : 25, t
total wages of the workets sho
(a)6:5

(b)5:6

© 3:7 .
(d)3:5

ment in their
by which the
be decreased is:

ul take a piece of work for Rs. 28,800. One
itin 36 days, the other in 48 days. With
ce of an expert, they finish it in 12 days. How
emuneration the expert should get?

a)Rs. 10000

(b) Rs. 18000

(c) Rs. 16000

(d) Rs. 12000

Q71.

A can do a piece of work in 25 days and B can do the
same work in 30 days, They work together for 5 days,
how much of work left ?

(a) 15/30

(b)11/30

(c) 12/30

(d) 19/30

Q72.

If x can finish a job in 4 hours and y can finish the same
job in 8 hours independently, then they together will
finish the job in:

(a) 140 minutes

(b) 120 minutes

(c) 160 minutes

(d) 150 minutes

Q73.

x does 1/4 of ajob in 6 days. y completes rest of the job
in 12 days. Then x and y could complete the job together
in:

(a) 9 days

(b) 65/8 days

(c) 48/5 days

(d) 22/3 days
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Q74.

A, B and C can complete a piece of work in 24, 5 and 12
days respectively working together, they will complete
the same work in:

(a) 40/13 days

(b) 4 days

(c) 1/24 days

(d) 7/24 days

Q75.

Janardan completes 2/3 of his work in 10 days. Time he
will take to complete 3/5 of the same work, is :

(a) 4 days

(b) 8 days

(c) 6 days

(d) 9 days

Q76.

A and B were assigned to do a jobfor an amount of R
1,200. A alone can do it in 15 days, while B can do it in 12
days. With the help of C, they can finish in 5 days. The
share of amount that C earns is:

(a) Rs. 300

(b) Rs.400

(c) Rs.500

(d) Rs.600

Q77.

A can do a piece of work in 12 days while B alone can do
itin 15 days. With the help of C they can finish it in 5
days. If they are paid 960 for the whole work. How much
money A gets?

(a) Rs. 480

(b) Rs 240

(c) Rs. 320 0

(d) Rs. 400

Q78. L 4
Three persons undertake to complete work for

1200. The first person can complete the in 8 days,
second person in 12 days andsthi
They complete the work
in 3 days, What does th
(a) Rs.180

(b) Rs. 200

(c) Rs.225

(d) Rs. 250

Q79.

Acandoapi fwork in 16 days and B in 24 days.
They take the help of C and they all together finish the
work in 6 days. If the total remuneration for the work is
Rs. 400. The amount (in rupees) each will receive, in
proportion, to do the work is

(@) A:150,B:100,C: 150

(b)A:100,B:150,C: 150

(c)A:150,B:150,c: 100

(dJA:100,B:150,C:100

Q80.

iec
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A and B can do a piece of work in 12 days. B and C in 15
days, C and A in 20 days. A alone can do the work in:
(a) 47/3 days

(b) 30 days

(c) 24 days

(d) 40 days

Q81.

A and B together can do a piece of work in 6 days. If A
can alone do the work in 18 days, then the number of
days required for B to finish the work is:

(a) 12 days

(b) 9 days

(c) 15 days

(d) 10 days

Q82.

A and B can do a given piece of|
can do the same work in 1
in 6 days. Number of daygrequi
AandCis:
(a) 24 days
(b) 8 days

ys, B and C
A/ B, C complete it
d to finish the work by

¢

a piece of work in 15 days, B and C can do
orkin 10 days and A and C can do the same in
s. Time taken by A, B and C together to do the job

(b) 4 days

(c) 9 days

(d) 5 days

Q84.

In two days A, B and C togethercan finish 1/2 of a work
and in another 2 days B and C together can finish 3/10
par of the work.Then A alone can complete the whole
work in

(a) 15 days

(b) 10 days

(c) 12 days

(d) 14 days

Q85.

A can do a piece of work in 8 days which B can destroy in
3 days. A has worked for 6 days, during the last 2 days of
which B has been destroying. How many days must A
now work alone to complete the work :

(a) 7 days

(b) 22/3 days

(c) 23/3 days

(d) 8 days

Q86.

A and B together can complete a piece of work in 72
days, B and C together can complete it in 120 days and A
and C together in 90 days. In what time can A alone
complete the work ?

www.jkchrome.com
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(a) 80 days

(b) 120 days

(c) 120 days

(d) 150 days

Q87.

A and B can complete a piece of work in 30 days, B and C
in 20 days, while C and A in 5 days. If all of them work
together the time taken in completing the work will be :
(a) 10 days

(b) 12 days

(c) 38/3 days

(d) 40/3 days

Q88.

Working efficiencies of P and Q for completing a piece of
work are in the ratio 3 : 4. The number of days to be
taken by then to complete the work will be in the ratio:
(@)3:2

(b)2:3

(c)3:4

(d)4:3

Q89.

If 6 men and 8 boys can do a piece of work in 10 days
and 26 men and 48 boys can do the same in 2 days, then
the time taken by 15 men and 20 boys to do the same
type of work will be :

(a) 5 days

(b) 4 days

(c) 6 days

(d) 7 days

can do itin 5 days. In how, days can 5 women and 3 m
do it?

(a) 4 days ) 4

(b) 5 days

(c) 6days

(d) 8 days 4

Q91.

If 10 men or 20 boys ca
how many mats wil
days?

(a) 260

(b) 240

(c) 280

(d) 520

Q92.

If 3 men or 6 women can, do a piece of work in 16 days,
in how many .days can 12 men and 8 women do the
same piece of work ?

(a) 4 days

(b) 5 days

(c) 3 days

(d) 2 days

Q93.

Omats in 20 days, then
e by 8 men and 4 boys in 20
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Q90.
5 men can do a piece of work in 6 days while 10 Q
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If 16 men or 20 women can do a piece of work in 25
days. In what time will 28 men and 15 women do it?

(a) 100/7 days

(b) 100/3 days

(c) 75/4 days

(d) 10 days

Q9%4.

If 5 men or 8 women can do a piece of work in 12 days,
how many days will be taken by 2 men and 4 women to
do the same work?

(a) 15 days

(b) 27/2 days

(c) 40/3 days

(d) 10 days

Q95.

If 3 men or 4 women can ploug
long will 7 men and 5 wo
(a) 10 days

(b) 11 days

(c) 9 days

(d) 12 days .

6 men or 12 women can do a piece of work in 20 days. In
how many days can 8 men and 16 women do twice as big
as this work ?

(a) 2 days

(b) 5 days

(c) 15 days

(d) 10 days

Q98.

2 men and 1 women together can complete a piece of
work in 14 days, while 4 women and 2 men together can
do it in 8 days. If a man gets Rs. 600 per day. how much
should a woman get per day ?

(a) Rs. 400

(b) Rs. 450

(c) Rs. 480

(d) Rs. 360

Q99.

Jyoti can do 3/4 of ajob in 12 days. Mala is twice as
efficient as Jyoti. In how many days will mala finish the
job?

(a) 6 days

(b) 8 days

(c) 12 days

(d) 16 days

Q100.
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A is twice as good a workman as B and B is twice as good
a workman as C. If A and B can together finish a piece of
work in 4 days. then C can do it by himself in :

(a) 6 days

(b) 8 days

(c) 24 days

(d) 12 days

Q1o01.

If 1 man or 2 women or 3 boys can complete a piece of
work in 88 days, then 1 man, 1 woman and 1 boy
together will complete it in :

(a) 36 days

(b) 42 days

(c) 48 days

(d) 54 days

Q102.

Tapas works twice as fast as Mihir. If both of them
together complete a work in 12 days, Tapas alone can
complete it in:

(a) 15 days

(b) 18 days

(c) 20 days

(d) 24 days

Q103.

2 men and 3 women together or 4 men can complete a
piece of work in 20 days. 3 men and 3 women will
complete the same work in :

(a) 12 days

(b) 18 days

(c) 18 days

(d) 19 days

Q104.

20 men can complete a piece of work
men and 12 women under take to ¢
the work will be completed in :

(a) 10 days

(b) 12 days ¢
(c) 15 days

(d) 16 days

Q105.

Twenty women together complete a piece of work in
0g can complete the same work in
f the working capacity of a man to

Q106.

6 men and 8 women can do a piece of work in 10 days.
Then 3 men and 4 women can do the same Work in :
(a) 24 days

(b) 20 days

(c) 12 days

(d) 18 days
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Q107.

2 men and 3 women can do a piece of work in 10 days
while 3 men and 2 women can do the same work in 8
days. Then, 2 men and 1 women can do the same work
in:

(a) 12 days

(b) 25/2 days

(c) 13 days

(d) 27/2 days

Q108.

A is twice as good a workman as B and together they
finish a piece of work in 14 days. The nu of days
taken by A alone to finish the work i

(a) 11 days

(b) 21 days

(c) 28 days

(d) 42 days

Q1009.

5 men and 2 women wor together can do four times

as much work perhour as a man and a woman together.
The work don

and a woman together. The
a woman should be in the ratio:

er 8 men or 17 women can paint a house in 33 days.
The number of days required to paint three such houses
by 12 men and 24 women working at the same rate is:
(a) 44 days
(b) 43 days
(c) 34 days
(d) 66 days
Q111.
A man and a woman working together can do a certain
work in 18 days A. Their skills in doing the work are in
the ratio 3 : 2. How many days will the woman take to
finish the work alone :
(a) 45 days
(b) 36 days
(c) 27 days
(d) 30 days
Q112.
3 men and 4 boys can complete a piece of workin 12
days. 4 men and 3 boys can do the same work in 10 days,
Then 2 men and 3 boys can finish the work in?
(a) 35/2 days
(b) 60/11 days
(c) 8 days
(d) 22 days
Q113.
If 8 men or 12 boys can do a piece of work in 16 days, the
number of days required to complete the work by 20
men and 6 boys is :
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(a) 16/3 days

(b) 19/3 days

(c) 25/3 days

(d) 22/3 days

Q114.

If 10 men or 20 women or 40 children can do a piece of
work in 7 months, then 5 men, 5 women and 5 children
together can do half of the work in ?

(2) 6 months

(b) 4 months

(c) 5 months

(d) 8 months

Q115.

2 men and 3 boys can do a piece of work in 10 days while
3 men and 2 boys can do the same work in 8 days. In
how many days can do 2 men and 1 boy the work ?

(a) 8 days

(b) 7 days

(c) 25/2 days

(d) 2 days

Q116.

A man, a woman and a boy together can finish a piece of
work in 6 days. If a man and a woman can do the work in
10 and 24 days respectively. The days taken by a boy to
finish the work is:

(a) 30 days

(b) 35 days

(c) 40 days

(d) 45 days

Q117.

work in 6 months, then 10 men, 10 women and
children together do half of the work i
(a) 71/13 months 4

(b) 6 months
2

(c) 72/13 months
(d) 144/13 months
Q118.
ether completed a job
wice as efficiently as he
have been completed in 3

Two workers A and B
in 5 days. If A had wi
along, A would require:

actually did, the wor

(c) 15/2 day
(d) 35/4 days

Q119.

One man, 3 women and 4 boys can do a piece of work in
96 hours, 2 men and 8 boys can do it in 80 hours, 2 men
and 3 women can do it in 120 hours, 5 men and 12 boys
can do it in:

(a) 430/11 hours

(b) 469/11 hours

(c) 480/11 hours

(d) 44 hours
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If 40 men or 60 women or 80 children can do a @Q
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Q120.
3 men and 7 women can do a job in 5 days, while 4 men
and 6 women can do it in 4 days, the number of days
required for a group of 10 women working together, at
the same rate as before, to finish the same job is :

(a) 30 days

(b) 36 days

(c) 40 days

(d) 20 days

Q121.

If 12 men or 24 boys can do a work in 66 days, the
number of days in which 15 men and 6 bo doitis:
(a) 44 days

(b) 33 days

(c) 55days

(d) 66 days

Q122.

One man or two women @r thre
work in 88 days. One manjone
doitin:

(a) 44 days .

oys can do a piece of
man and one boy will

4 me 6 women complete a work in 8 days, 2 men
% omen also complete in 8 days. The number of
days'in which 18 women complete the work is :

(a) 16/3 days

(b) 17/3 days

(c) 13/3 days

(d) 14/3 days

Q124.

If 4 men or 8 women can do a piece of work in 15 days, in
how many days can 6 man and 12 women do the same
piece of work?

(a) 5days

(b) 10 days

(c) 45 days

(d) 15 days

Q125.

If 15 men can finish a piece of work in 20 days, however
it takes 24 women to finish it in 20 days. If 10 men and 8
women undertake to complete the work, then they will
take:

(a) 20 days

(b) 30 days

(c) 10 days

(d) 15 days

Q126.

3 men or 5 women can do a work in 12 days. How long
will 6 men and 5 women take to finish the work?

(a) 20 days

(b) 10 days

(c) 4 days

www.jkchrome.com



11 www.jkchrome.com

(d) 15 days

Q127.

A particular job can be completed by a team of 10 men in
12 days, The same job can be completed by a team of 10
women in 6 days. How many days are needed to
complete the job if the two teams work together?

(a) 4 days

(b) 6 days

() 9 days

(d) 18 days

Q128.

A certain number of men can complete a job in 30 days. If
there were 5 men more, it could be completed in 10 days
less. How many men were in the beginning?

(a) 10

(b) 15

() 20

(d) 25

Q129.

A Contractor undertakes to make a road in 40 days and
employees 25 men. After 24 days, he finds that only one
third of the road is made. How many extra men should
be employ so that he is able to complete the work 4 days
earlier ?

(a) 100

(b) 60

(c) 75

(d) None of these

Q130.
A does half as much work as B in one sixth of the tim
together they take 10 days to complete a work,

much time shall B take to do it alone?

(a) 70 days

(b) 30 days ) 2

(c) 40 days

(d) 50 days

Q131. ¢

Kamal can do a piece of work ys. Bimal is 50 per
cent more efficient thanKa doing the work. In how
many days will Bim t work?

(a) 14 days

(b) 12 days

(c) 10 days

(d) 21

Q132.

8 men can do a work in 12 days. After 6 days of work, 4
more men were engaged to finish the work, In how many
days would the remaining work be completed?

(a) 2 days

(b) 3 days

(c) 4 days

(d) 5 days

Q133.

A certain number of persons can complete a piece of
work in 55 days, If there were 6 persons more, the work
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could be finished in 11 days less, How many persons
were originally there?

(a) 17

(b) 24

()30

(d) 22

Q134.

8 men working for 9 hours a day complete a piece of
work in 20 days. In how many days can 7 men working
for 10 hours a day complete the same piece of work ?
(a) 144/7 days

(b) 143/7 days

(c) 150/7 days

(d) 156/7 days

Q135.

639 persons can repair a road
hours a day, In how many

i % fs working 5
ill 30/persons working
6 hours a day complete the wor
(a) 210 days
(b) 213 days

(c) 214 days .

build a wall of 280 m length in 21 days,
could take 18 days to build a similar type
ngth 100 m?

(c) 18

(d) 28

Q137.

If 6 persons working 8 hours a day earn Rs. 8400 per
week, then 9 persons working 6 hours a day will earn
per week:

(a) Rs. 8400

(b) Rs. 16800

(c) Rs.9450

(d) Rs. 16200

Q138.

5 persons can prepare an admission list in 8 days
working 7 hours a day, If 2 persons join them so as to
complete the work in 4 days, how many hours they need
to work.

(a) 10 hours

(b) 9 hours

(c) 12 hours

(d) 8 hours

Q139.

A mat-weavers can weave 4 mats in 4 days. At the same
rate how many mats would be woven by 8 mat-weavers
in 8 days ?

(a) 4

(b) 8

(c) 12

(d) 16
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Q140.

10 men working 6 hours a day can complete a work in 18

days. How many hours a day must 15 men work to
complete the same work in 12 days?

(a) 6 hrs/days

(b) 10 hrs/days

(c) 12 hrs/days

(d) 15 hrs/days

Q141.

A certain number of men can do a work in 60 days. If
there were eight more men, it could be complete in 10
days less, How many men were there in the beginning :
(@) 70

(b) 55

(c) 45

(d) 40

Q142.

12 persons can do a piece of work in 4 days. How many
persons are required to complete 8 times the work in
half the time ?

(a) 192

(b) 190

(c) 180

(d) 144

Q143.

A work could be completed in 100 days by some
workers. However, due to the absence of 10 workers, it
was completed in 110 days. The original number of
workers was :

(a) 100

(b) 110

(c) 55

(d) 50

Q144. L 4

A job can be completed by 12 men in 1 ySaHow many

extra days will be needed to complete the if 6 men
leave after working for 6 days,? ¢

(a) 3 days

(b) 6 days

(c) 12 days

(d) 24 days

Q145.

Two perso mplete a piece of work in 9 days.
How m e persons are needed to complete twice
the work in ys ?

(@ 3

(b) 2

(c) 4

d 1

Q14é6.

A contractor undertook to complete a project in 90 days
and employed 60 men on it. After 60 days, he found that
3/4 of the work has already been completed. How many
men can he discharge so that the project may be
completed exactly on time?
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(a) 40
(b) 20
() 30
(d) 15
Q147.
60 men could complete a piece of work in 250 days. The
worked together for 200 days. After that the work had to
be stopped for 10 day due to bad weather. How many
more men should be engaged to complete the work in
time ?

(a) 10

(b) 15

(c) 18

(d) 20

Q148.

If 28 men complete 7/8 of a pie
then the number of men, whe
remaining work completed in an
(@5
(b) 6
© 4 .
(d) 3

vork in a week,
st be/engaged to get the

pther week, is :

field’is reaped by 2 men, 3 women and 4
er in 10 days. If working capabilities of a
an and a child are in the ratio5:4 : 2, then a

% are field will be reaped by 6 men, 4 women and 7

dren in :
(a) 5days
(b) 6 days
(c) 7 days
(d) 8days
Q150.
If p men working p hours per day for p days produce p
units of work, then the units of work produced by n men
working n hours a day for n days is :
(a) p<sup>2</sup> /n<sup>2</sup>
(b) p<sup>3</sup>/n<sup>2</sup>
(C) n<sup>2</sup>/p<sup>2</sup>
(d) n<sup>3</sup> /py<sup>2</sup>
Q151.
If two persons with equal abilities can do two jobs in two
days then 100 persons with equal abilities can do 100
similar jobs in :
(a) 100 days
(b) 10 days
(c) 5days
(d) 2 days
Q152.
A road of 5 km length will be constructed in 100 days. So
280 workers were employed. But after 80days it was
found that only 7/2 km road was completed. Now how
many more people were need to finish the work in the
specified time?
(a) 480
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(b) 80

(c) 200

(d) 100

Q153.

7 men can complete a piece of work in 12 days. How
many additional men will be required to complete
double the work in 8 days?

(a) 28

(b) 21

(c) 14

(d) 7

Q154.

A does half as much work as B in three-forth of the time
taken by B. If together they take 18 days to complete the
work, how much time shall B take to do it alone?

(a) 30 days

(b) 35 days

(c) 40 days

(d) 45 days

Q155.

A does half as much work as B in one third of the time
taken by B. If together they take 10 days to complete a
work, then the time taken by B along to do it would have
been :

(a) 30 days

(b) 25 days

(c) 6days

(d) 12 days

Q156.

A can do aworkin 21 days. B is 40% more efficient

A. The number of days required for B to finish t e
work alone is :
(a) 10 days

(b) 12 days ) 2

(c) 15 days

(d) 18 days

Q157. ¢

A can do a piece of work in 9 is 50% more
efficient than A, then in days can B do the
same work ?

(a) 13.5 days

(b) 4.5 days

(c) 6days

(d) 3

Q158.

Ais 30% more efficient than B and can alone do a piece
of work in 23 days. In how many days A and B working
together, can finish the job is :

(a) 11 days

(b) 13 days

(c) 20 days

(d) 21 days

Q159.

A can do a certain job in 12 days. Bis 60 % more
efficient than A. To do the same job B alone would take:
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(a) 15/2 days
(b) 8 days
(c) 10 days
(d) 7 days
Q160.
‘x’ number of men can finish a piece of work in 30 days. If
there were 6 men more, the work could be finished in 10
days less. The original number of men is :
(@) 6
(b) 10
(c) 12
(d) 15
Q1e61.
Working 8 hours a day, Anu can cop ooklin 18 days.
How many hours a day should s r
the work in 12 days?
(a) 12 hours
(b) 10 hours
(c) 11 hours
(d) 13 hours
Q162. ¢
If the wor n 1) men in (x + 1) days and the
work done b + 2)menin (x - 1) days are in the ratio
9:1 e value of x is equal to :
a

as to finish

Q163.

A can do a piece of work in 70 days and B is 40% more
efficient than A. Then the number of days taken by B to
do the same work is:

(a) 40 days

(b) 60 days

(c) 50 days

(d) 45 days

Q164.

A can do a certain work in 12 days. B is 60% more
efficent than A, How many days will B and A together
take to do the same job ?

(a) 80/13 days

(b) 70/13 days

(c) 75/13 days

(d) 60/13 days

Q165.

Some carpenters promised to do a job in 9 days but 5 of
them were absent and remaining men did the job in 12
days. The original number of carpenters was:

(a) 24

(b) 20

(c) 16

(d)18

Q166.
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Some persons can do a piece of work in 12 days. Two
times the number of such persons will do half of the
work in:

(@) 9days

(b) 6 days

(c) 5days

(d) 3 days

Q167.

If 80 persons can finish a work in 16 days by working 6
hours a day, the number of hours a day should 64
persons work to finish that same job in 15 days is :

(@) 5 hrs

(b) 7 hrs

(c) 8hrs

(d) 6hrs

Q168.

Three men can complete a piece of work in 6 days. Two
days after they started the work, 3 more men joined
them. How many days will they take to complete the
remaining work?

(a) 1 days

(b) 2 days

(c) 3 days

(d) 4 days

Q169.

If 4 men or 6 women can do a piece of work in 12 days
working 7 hours a day; how many days will it take to
complete a work twice as large with 10 men and 3
women working together 8 hours a day ?
(a) 6 days

(b) 7 days

(c) 8 days

(d) 10 days.

Q170. \ 2
If x men can do a piece of work in x da enithe
number of days in which y men can do the e Work is

: L 4
(a) xy days
(b) y?/x days
(c) x?/ydays
(d) x2y days
Q171.

A contracto took to finish work in 92 days and
employ After 48 days, he found that he had
already done work, the number of men he can

withdraw so that his work may still be finished in time is

(a) 45

(b) 40

()35

(d) 30

Q172.

A man undertakes to do a certain work in 150 days. He
employs 200 men. He finds that only a quarter of the
work is done in 50 days. The number of additional men
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that should be appointed so that the whole work will be
finished in time is:
(@ 75
(b) 100
(c) 125
(d) 50
Q173.
A contractor undertook to finish a certain work in 124
days and employed 120 men. After 64 days, he found
that he had already done 2/3 of the work. How many
men can be discharged now so that the work may finish
in time?
(a) 48
(b) 56
(c) 40
(d) 50
Q174.
Two men can do a piece
can do that in 3 days. Thenithe
1 man and 1 wo is

4

workgdn x days. Buty women

io of the work done by

(b) 9 hrs

K .
™

(c) 11 hrs

(d) 13 hrs

Q176.

15 men take 20 days to complete a job working 8 hours a
day. The number of hours a day should 20 men take to
complete the job in 12 days:

(a) 5 hours

(b) 10 hours

(c) 15 hours

(d) 18 hours

Q177.

How many men need to be employed to complete the
whole job in 5 days, If 15 men can complete 1/3 of the
jobin 7 days ?

(a) 20

(b) 21

(c) 45

(d) 63

Q178.

If 12 carpenters working 6 hours a day canmake 460
chairs in 240 days, then number of chairs made by 18
carpenters in 360 days each working 8 hours a day
(a) 1320

(b) 1380

(c) 1260
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(d) 920

Q179.

If 90 men can do a certain job in 16 days, working 12
hours/day, then the part of that work which can be
completed by 70 men in 24 days, working 8 hours/day
is:

(a) 5/8

(b) 2/3

(c) 1/3

(d) 7/9

Q180.

A company employed 200 workers to complete a certain
work in 150 days. If only 1/4% of the work had 150
days. If only been done in 50 days, then in order to
complete the whole work in time, the number of
additional workers to be employed were:

(a) 100

(b) 600

(c) 300

(d) 200

Q181.

If 20 women can lay a road of length 100m in 10 days. 10
women can lay the same road of length 50m in:

(a) 5 days

(b) 15 days

(c) 10 days

(d) 20 days

Q182.

If 12 men working 8 hours a day comple the workdn 1
days, how long would 16 men working 15/2 hours a
take to complete the same work?

(a) 8 days 0
(b) 10 days

(c) 6 days ¢

(d) 7 days

Q183.

A contractor was engaged to
After working for 12 days,wit
that only 5/8t of the ro
complete the work i
extra labours require
(a) 16

(b) 12

()10

(d)18

Q184.

A and B can do a piece of work in 18 and 24 days
respectively. They worked together for 8 days and then A
left. The remaining work was finished by B in:

(a) 5 days

(b) 16/3 days

(c) 8 days

(d) 10 days

Q185.

n constructed. To
ated time the number of
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A can do a piece of work in 12 days and B can do itin 18

days. They work together for 2 days and then A leaves.

How long will B take to finish the remaining work ?

(a) 6 days

(b) 8days

(c) 10days

(d) 13 days

Q186.

A, B and C can complete a piece of work in 10, 12 and 15

days respectively, They started the work together. But A

left the work before 5 days of its completion, B also left

the work 2 days after A left. In how many was the

work completed?

(a) 4 days

(b) 5 days

(c) 7 days

(d) 8 days

Q187.

A can complete a piece o in 10 days, B in 15 days
A.and C worked together for two days

A"and B can do a job in 6 and 12 days respectively. They
began the work together but A leaves after 3 days. Then
the total number of days need for the completion of the
work is:

(a) 4 days
(b) 5days
(c) 6 days
(d) 9 days
Q189.

A and B can together finish a work in 30 days. They
worked together for 20 days and then B left, and A
finished the remaining work in 20 days so, A can finished
whole work in :

(a) 50 days
(b) 60 days
(c) 48 days
(d) 54 days
Q190.

A can finish a piece of work in 24 days, B in 9 days and C
in 12 days B and C start the work but are forced to leave
after 3 days. The remaining work was done by Ain :

(a) 5 days
(b) 6 days
(c) 10 days
(d) 21/2 days
Q191.

A and B can do a piece of work in 28 and 35 days
respectively. They began to work together but A leaves
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after sometime and B completed remaining work in 17
days. After how many days did A leave ?

(a) 14 days

(b) 9 days5

(c) 8 days

(d) 7, days

Q192.

A can do a piece of work in 60 days, He works for 15
days and then B alone finishes the renaining work in 30
days. They together can finish the work in :

(a) 24 days

(b) 25 days

(c) 30 days

(d) 32 days

Q193.

A and B can complete a piece of work in 15 days and 10
days respectively. They started doing the work together
but after 2 days, B had to leave and A alone completed
the remaining work. The whole work was completed in :
(a) 10 days

(b) 8 days

(c) 12 days

(d) 15 days

Q194.

A and B can do a piece of work in 20 days and 12 days
respectively, A started the work alone and then after 4
days B joined him till the completion of the work. How
long did the work last ?

(a) 10 days

(b) 20 days

(c) 15 days

(d) 6 days

Q195.

A and B can do a piece of work in 45%
respectively. They began the work tog r Aleft
after some tirne and B completedithe remaining work in
23 days. After how many days,of werk did A leave?

(a) 10 days
(b) 9 days
(c) 8 days
(d) 5 days
Q196.

A man and

complete a piece of work together
in 24 d f last boy alone does the work then it
is complete 8 days. How long the man will take to
complete the work alone ?

(a) 72 days

(b) 24 days

(c) 20 days

(d) 36 days

Q197.

A can do a piece of work in 18 days and B in 12 days.
They began the work together, but B left the work 3 days
before its completion. In how many days, in all was the
work completed ?
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(a) 12 days
(b) 10 days
(c) 9.6 days
(d) 9 days
Q198.

A and B can separately complete a piece of work in 20
days and 30 days respectively. They worked together for
some time, then B left the work. If A completed the rest
of the work in 10 days, then B worked for :

(a) 6 days

(b) 8days

(c) 12 days

(d) 16 days

Q199.

A and B alone can complete a pieceso
18 days respectively. They wo
days before the completio
many days was the work/completed?
(a) 13 days
(b) 8 days
(c) 6days

¢

(c) 6days

(d) 5 days

Q201.

A can complete a piece of work in 18 days, B completes
in 20 days and C in 30 days, B and C together started the
work and forced to leave after 2 days. The time taken by
A alone to complete the remaining work is:

(a) 10 days

(b) 12 days

(c) 15 days

(d) 16 days

Q202.

A alone can complete a piece of work in 18 days and B
alone in 15 days, B alone worked at it for 10 and then left
the work, In how many more days, will A alone complete
the remaining work ?

(a) 5days

(b) 11/2 days

(c) 6days

(d) 8 days

Q203.

A can do a piece of work in 12 days. When he had
worked for 3 days. B joined him. If they complete the
work in 3 more days, in how many days can B alone
finish the work?

(a) 6 days
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(b) 12 days

(c) 4days

(d) 8 days

Q204.

45 men can complete a piece of work in 16 days. Four
days after they started working, 36 more men joined

them. How many days will they will take to complete the

remaining work ?

(a) 6 days

(b) 8days

(c) 6days

(d) 7 days

Q205.

A can do a piece of work in 12 days and B in 15 days.
They work together for 5 days and then B left. The days
taken by A to finish the remaining work is:

@3

(b) 5

(c) 10

(d)121

Q206.

A can finish a piece of work in 18 days and B can do the
same work in 15 days, B worked for 10 days and left the
job. In how many days, A alone can finish the remaining
work?

(a) 6 days

(b) 11/2 days

(c) 5 days

(d) 8 days

Q207.

They start together. But, after 2 days, B left the work, I
the work is completed after 2 more d B alone
do the work in: ¢
(a) 10 days
L 4

(b) 4 days

(c) 6 days

(d) 8 days

Q208.

A can do a piece of im20 days and B in 30 days.
They work toge s and then both leave the
work. Then C alone fifiishes the remaining work in 10
days. In ho days will C finish the full work?

(a) 25
(b) 30 days
(c) 24 days
(d) 20 days
Q209.

A and B together can complete a job in 8 days. Both B an
working alone can finish the same job in 12 days. A and B

commence work on the job, and work for 4 days, where

upon A leaves, B continues for 2 more days, and then he

leaves too, C now starts working, and finishes the job.
How many days will C require?
(a) 5 days
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K(b) 6 days
(c) 8 days
A and B together car complete a piece of work i@ (d) 10 days
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(b) 8 days

(c) 3 days

(d) 4 days

Q210.

A and B can together finish a piece of work in 30 days.
They worked at it for 20 days and then B left. The
remaining work was done by A alone in 20 more days. A
alone can finish the work in:

(a) 60 days

(b) 54 days

(c) 48 days

(d) 50 days

Q211.

A,Band Ccandoajobin 6 days, 12
respectively. After 1/8 of the worki
the job. Rest of the work is don
Time taken to finish the re
(a) 35/6 days

(b) 21/4 days

(c) 7/2 days

(d) 15/3 days ¢

is:

Q212.

ays to complete a work which can be
en in 8 days. 16 men started working
s 10 men left and 4 women joined them.
days will they take to complete the remaining

Q213.

40 men can complete a piece of work in 18 days. Eight
days after they started working together, 10 more men
joined them. How many days will they now take to
complete the remaining work ?

(a) 6 days

(b) 8 days

(c) 10 days

(d) 12 days

Q214.

20 men can do a piece of work in 18 days. They worked
together for 3 days, then 5 men joined then. In how many
more days is the work completed?

(a) 12 days

(b) 14 days

(c) 13 days

(d) 15 days

Q215.

A, B and C can complete a piece of workin 10, 12 and 15
days respectively. A left the work 5 days before the Work
was completed and B left 2 days after A had left number
of days required to complete the whole work was:

(a) 26/3 days

(b) 6days
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(c) 20/3 days

(d) 7 days

Q216.

X alone can complete a piece of work in 40 days. He
worked for 8 days and left. Y alone completed the
remaining work in 16 days. How long would X and Y
together take to complete the work ?

(a) 40/3 days

(b) 14 days

(c) 15 days

(d) 50/3 days

Q217.

A and B together can do a piece of work in 12 days which
B and C together do in 16 days. If A works for 5 days, B
works for 7 days than C complete the remaining work in
13 days. In how much time B alone do the whole work.
(a) 48 days

(b) 24 days

(c) 16 days

(d) 12 days

Q218.

A and B together can do a piece of work in 30 days, B and
C together can do it in 20 days, A starts the work and
work on it for 5 days, then B takes up and work for 15
days. Finally C finishes the work in 18 days. The number
of days in which C alone can do the work where doing it
seperately is:

(a) 120 days

(b) 40 days

(c) 60 days

(d) 24 days

Q219.

P and Q together can do a job in 6 daysiQ a
finish the same job in 60/7 days. P arte
worked for 3 days. Q and R continued . Then
the difference of days in which R@nd P canigomplete the
job alone is: X 3

(a) 10 days

(b) 8 days

(c) 12 days

(d) 15 days
Q220.

If the expen
hours a 8
can be used
(a)12

(b) 16

(c) 4

(d) 8

Q221.

X can do a piece of work in 4 days. When he had worked
for 4 days, Y joined him. If complete work was finished in
16 days. Y can alone finish that work in:

(a) 27 days

(b) 36 days

f gas on burnining 6 burners for 6
s is Rs. 450, then how many burners
0 days at 5 hours a day for Rs. 625 ?
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(c) 42 days
(d) 18 days
Q222.
Working efficiencies of P and Q for Completing a piece of
work are in the ratio 3: 4. The number of days to be
taken by them to complete the work will be in the ratio :
(@3:2

(b)2:3

(c)3:4

(d)4:3

Q223.

A is thrice as good a workman as B and is,
to finish a piece of work in 60 days less
(in days) in which they can do it tog
(a) 22 days

(b) 45/2 days
(c) 23 days
(d)93/4

Q224.

To complete a pi
than B. If toget
work, howgnuc

f work, A takes 50% more time
ake 18 days to complete the
mewill B take to do it?

,Band C completed a work costing Rs. 1,800. A worked
for 6 days, B for 4 days and C for 9 days. If their daily
wages are in the ratio of 5 : 6 : 4, how much amount will
be received by A?

(a) Rs. 800

(b) Rs. 600

(c) Rs.900

(d) Rs.750

Q226.

A takes twice as much time as B and thrice as much as C
to complete a piece of work. They together complete the
work in 1 day. In what time, will A alone complete the
work.

(a) 9 days

(b) 5 days

(c) 6 days

(d) 4 days

Q227.

A and B together can complete a piece of work in 15
days. A is 150% more efficient worker than B. How long
will A take to complete the work alone?

(a) 20 days

(b) 21 days

(c) 21.4 days

(d) 22.5 days

Q228.
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A is thrice as good a workman as B and therefore is able
to finish a job in 40 days less than B. Working together,
they can do it in:

(a) 14 days

(b) 13 days

(c) 20 days

(d) 15 days

Q229.

A and B can do a job together in 12 days. A is 2 times as
efficiellt as B. In how many days can B alone complete
the work ?

(a) 18 days

(b) 9 days

(c) 36 days

(d) 12 days

Q230.

P is thrice as good a workman as Q and therfore able to
finish a job in 48 days less than Q. working together, they
candoitin:

(a) 18 days

(b) 24 days

(c) 30 days

(d) 12 days

Q231.

To do a certain work, B would take time thrice as long as
A and C together and C twice as long as A and B together.
The three men together complete the work in 10 days.
The time taken by A to complete the work separately is:
(a) 22 days
(b) 24 days
(c) 30 days
(d) 20 days

Q232. 0
A does 20% less work than B. If A ca 0 iece of
work in 15/2 hours. Then B can do it i

L 4

(a) 13/2 hours

(b) 6 hours

() 11/2 hours

(d) 5 hours

Q233.

A can do a piece of w
efficient than AHo
this work?

days. B is 25% more
would B alone take to finish

(c) 21/4 days

(d) 8/3 days

Q234.

Sunil completes a piece of work in 4 days, whereas
Dinesh completes the work in 6 days. Ramesh does the
work 3/2 times as fast as Sunil. The three together can
complete the work in :

() 17/12 days

(b) 12/7 days

(c) 11/8 days
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(d) 24/19 days
Q235.

A takes three times as long as B and C together to do a
job. B takes four times as long as A and C together to do
the work. If all the three, working together can complete
the job in 24 days, then the number of days. A alone will
take to finish the job is:

(a) 100

(b) 96

(c) 95

(d) 90

Q236.

A man is twice as fast as a woman and

as fast as a boy in doing a work. If all an, a
woman and a boy can finish the
will do it alone ?
(a) 49
)7
(c) 6
(d) 42
4

e to B's 3 days work. If A can

in 8 days, then to complete the work

Q238.

If A, B and C can complete a piece of work in 6 days. If A
can work twice faster than B and thrice faster than C,
then the number of days C alone can can complete the
work is :

(a) 44

(b) 33

(c) 22

(d) 11

Q239.

If a man earns Rs. 2000 for his first 50 hours of work in a
week and is then paid one and one half times his regular
hourly rate for additional hours, then the hours must he
work to make Rs. 2300 in a week is:

(a) 6 hours

(b) 7 hours

(c) 4 hours

(d) 5 hours

Q240.

A can do half of a piece of work in 1 day, whereas B can
do full. B can do half the work as C in 1 day. The ratio of
their efficiencies of work is:

(@)1:2:4

(b)2:1:4

(c)4:2:1

(d)2:4:1

Q241.
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A can do three times the work done by B in one day.
They together finish 2/5 of the work in 9 days, The
number of days by which B can do the work alone are :.
(a) 120 days

(b) 100 days

(c) 30 days

(d) 90 days

Q242.

The average wages of 500 workers were found to be Rs.
200, Later on, it was discovered that the wages of two
workers were misread as 180 and 20 instead of 80 and
220, The correct average wages are :

(a) Rs. 200.10

(b) R200.20

(c) Rs. 200,50

(d) Rs.201.00

Q243.

A can do a certain work in the same time in which B and
C together can do it. If A and B together could do itin 10
days and C alone in 50 days, then B alone could do the
work in:

(a) 15 days

(b) 20 days

(c) 25 days

(d) 30 days

Q244.

A can write 75 pages in 25 hrs. A and B together can
write 135 pages in 27 hrs, In what time can B write 42

(c) 21 hrs
(d) 23hrs
Q245. 4

A and B can complete a piece of work i 18 days
respectively. A begins to do the work and work
alternatively one at a time fopone'day edeh. The whole
work will be completed in:

(a) 43/3 days
(b) 46/3 days
(c) 48/3 days
(d) 56/3 days

inted by a contractor on the
condition he 1d be paid Rs. 75 for each day of his
work but would be, fined at the rate of Rs. 15 per day for
his absent. After 20 days, the contractor paid the
labourer Rs. 1140. The number of days the labourer
absented from work was:

(a) 3 days

(b) 5days

(c) 4 days

(d) 2 days

Q247.
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(@) 17 hrs
(b) 19hrs 0
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40 men can complete a piece of work in 40 days. They
started the work together. But at the end of each 10thday,
5 men left the job. The work would have been completed
in

(a) 170/3 days

(b) 160/3 days

(c) 52 days

(d) 50 days

Q248.

A, B and C can do a piece of work in 20, 30 and 60 days
respetively. In how many days can A do the work if he is
assisted by B and C on every third day ?

(a) 10 days

(b) 12 days

(c) 15 days

(d) 20 days

Q249.

A and B working separately cando a piece of work in 9
and 12 days respectively. ey work for a day
alternately with inning work would be completed
in:

(@) 32/3

#Bto do it. If both of them together 100/9 days, then
the time taken by ‘B’ alone to do the same work (in days)
is:

(a) 15 days

(b) 20 days

(c) 25 days

(d) 30 days

Q251.

A takes 10 days less than the time taken by B to finish a
piece of work. If both A and B can do it in 12 days, then
the time taken by B alone to finish the workis A :

(a) 30 days

(b) 27 days

(c) 20 days

(d) 25 days

Q252,

A, B and C can do a piece of work in 30, 20 and 10 days
respectively. A is assisted by B on one day and by C on
the next day, alternatively, How long would the work
take to finish

(a) 75/8 days

(b) 40/8 days

(c) 108/13 days

(d) 48/13 days

Q253.

Dinesh and Rakesh are working on an Assignment,
Dinesh takes 6 hours to type 32 pages on a computer,
while Rakesh takes 5 hours to type 40 pages. How much
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time will they take working together on different
computers to type an assignment of 110 page ?

(a) 7 hrs, 30 min.

(b) 8 hrs

(c) 8 hrs, 15 min

(d) 8 hrs, 25 min

Q254.

A can do as much work as B and C together can do. A and
B can together do a piece of work in 9 hours 36 minutes
and C can do it in 48 hours. The time (in hours) that B
needs to do the work alone, is :

(a) 18 hrs

(b) 24 hrs

(c) 30 hrs

(d) 12 hrs

Q255.

Three men A, B and C working together can do a job in 6
hours less time than A alone, in 1 hour less time than B
alone and in one half the time needed by C when working
alone. Then A and B together can do the job in :

(a) 2/3 hours

(b) 2/3 hours

(c) 3/2 hours

(d) 4/3 hours

Q256.

A and B working separately can do a piece of work in 9
and 15 days respectively. If they work for a day
alternatively, with A beginning, then the work will be
completed in

(a) 10 days

(b) 11 days

() 9 days

(d) 12 days

Q257. \ 2
12 monkeys can eat 12 bananas in 12 utesyIn how
many minutes can 4 monkeys eag4 banan

(a) 4 minutes ¢

(b) 10 minutes

(c) 12 minutes

(d) 8 minutes

Q258.

Two workers A engaged to do a piece of work.
A working uld take 8 hours more to complete
the wo hen'work together. If B worked alone,

would take ours more than when work together.
The time required to finish the work together is:

(a) 5 hours

(b) 8 hours

(c) 4 hours

(d) 6 hours

Q259.

x can copy 80 pages in 20 hours, x and y together can

copy 135 pages in 27 hours. Then y can copy 20 pages in
(a) 20 hours

www.jkchrome.com

www.jkchrome.com

™

www.jkchrome.com

www.jkchrome.com

(b) 24 hours
(c) 3 hours
(d) 12 hours
Q260.

Work done by (x+4) men in (x+5) days is equal to the
work done by (x-5) men in (x+20) days. Then the value
ofxis:

(a) 15

(b) 20

(c) 25

(d) 30

Q261.

Ganga and Saraswati, working separat
field in 8 and 12 hours respectively.
stretches of one hour alternative
am, when will the mowing be ¢
(a) 6 p.m.

(b) 6.30 p.m.

(c) 5 p.m.

(d) 5.30 p.m.

Q262. ¢

Aand B ca tely finish a piece of work in 20 days

and 15 ectively. They worked together for 6

(b) 40 days

(c) 50 days

(d) 30 days

Q263.

If 4 men and 6 women can complete a work in 8 days
while 3 men and 7 women can complete it in 10 days
then 10 women complete it in:

(a) 35 days

(b) 50 days

(c) 45 days

(d) 40 days

Q264.

A can do a piece of work in 12 days and B in 24 days. If
they work together, in how many days will they finish
the work?

(a) 20 days

(b) 8 days

(c) 12 days

(d) 15 days

Q265.

A, B and C working separately can do a piece of work in
11 days, 20 days and 55 days respectively. In how many
days the work will be completed if A is assisted by B and
C on alternate days?

(@) 8

(b) 4

(c) 6
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ANSWER :

1c
7c
13d
19c
25b
31b
37c
43 c
49d
55a
61d
67 a
73 c
79 a
85b
91a
97 ¢
103b
109b
115¢
121a
127 a
133b
139d
145d
151d
157 ¢
163 c
169b
175D
181c
187d
193¢
199 b
205a
211c
217 a
223D
22

24

247 a
253 ¢
259a
265a

2a
8d
14d
20c
26b
32b
38a
44d
50b
56 a
62 c
68 c
74 a
80b
86 c
92 c
98 a
104 a
110c¢
116 ¢
122 ¢
128a
134 a
140 a
146 b
152 ¢
158 b
164 d
170 c
176D
182 a

Eff

Days

6

www.jkchrome.com

3c
9b
15a
21c
27c
33¢c
39a
45a
51c
57c¢
63d
69 a
75d
81b
87b
93d
99b
105b
111a
117d
123 a
129 ¢
135b
141d
147 b
153 ¢
159a
165b
171d
177d
183 a

www.jkchrome.com

6¢C

12 c

18a

24a

30a

36¢ 2.
42d

48b

54b

60d

66d

72 ¢

78 c

84b

90 b

96 a

102b
108b
114d
120d
126 ¢
132 ¢
138a

4,

5.
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(A) (B)

A’s one day work = 3 units
B’s one day work = 2 units
(A+B) complete the whole work in

W eq
eff of A+B _ (3+2) - 4®

(c) 60

Units/day 4/ + \3 =7 units

A=15days B=20

4 days work of A afnc
Work left 60 — 2
Rest work

Total work

_ 8
fra =%

(c) i 1 day
2
A can cultivate Eth of land in 6 days

5
A can cultivate 1 part of land in 6 x >
=15 days
B can cultivate %rd of land in 10 days

B can cultivate 1 part of land in 30 days
30

Eff 1

15 days 30 days
(A) (B)
T.W =30 units

4 4
Eth of work = T X 30 = 24 units

% th work done by A+B in

24
= ?days = 8 days

(a) If Adoes awork in 18 days.
ATQ,
B does same work in 9 day.
18(T.W)

Unit/day = 2
Days-> 18 9

(A) (B)

3
— = —part

18 6

(c)

www.jkchrome.com



6.

7.

23 www.jkchrome.com www.jkchrome.com

24 (T.W)

Unit/day - 1/ +4 +\2 - 7 unit/day

Days - 24 6 12
(A (B) (C)

24
A+B+C=7

—33d
=37 days

(c) Concept
Concept

Total Work
60

Unit/day=> 5 N+3 = 12

Work 12 15 20
done by - (A+B) (B+C) (C+A)

Description:
In these kind of Question, always take total
work [T.W] as L.C.M. of .

T.Wis 60. L 2
If A+B complete the who
so their one day work will b

its/day
otal time taken by (A+B+C)

_ Total work
" T.W done by (A+ B + C)/day

= = ays
(C)

W
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Unit/day=> 5 N+4 = 12

Work 72 120 90
done by - (A+B) (B+C) (C+A)

[Like Q: 1]

(d)

(b)

Work done by (A+B+C) per day = 6
units/day

Total time taken by (A+B+C 0 days

12(T.

So it mean their combined efficiency
should be 48 units/day.

(1 man + 1 woman)’s efficiency=4+3 =7
units

Unit left = 48 — 7 = 41 units

' T.W _
Now No of boys required eff of aboy =
4_1

1

= 41 boys

60
6 3
10 15 20
(A+B)  (B+C)  (C+A)

13
A+B+C work > units/day

A+B work 6 unit/day
C work/day=[(A+B+C)-(A+B)]
13

C will finish in % =120 days
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12.

(b)
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12 (T.W)
Eff 3 6
Hrs 4 3 2
(A) (B+C) (C+A)

If (A+C)’s one day work = 6 units
And A’s one day work = 3 units then
C’s one day work =6 —3=3 units.
(B+C)’s one day work =4 units
then B’s one day work = 1 unit

B can complete the whole work in
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13.
W
30

(d)

efficiency 3

15
(A)
If A and B worked till last
efficiency. Then their p
will d|V|ded in the r

x6000
x6000

day

T.W
effof B 30,000
1z 12 h
=T= rs
(b) ATQ,
12
Unit/day - + 1 =3 ) A cando % of a piece of work in 5 days
A can do 1 unit of work in
2
5x I =10 days
Days 6 12 Similarly B complete 1 unit of work in
(A) (B)
9x5
Work done by A+B per dag(A+B)= i === 15 days

(c)

Work done by A/day =2
So,

The portion of the

1 unit/day

10
(A+B)

30
(A)

A+ B—A =B’s efficiency
3 -1 =B’s efficiency
2 = B’s efficiency

B alone does in =—
=15 days

www.jkchrome.com

3
C complete 1 unit of work in =8x5=12 days

T.W
60
-> 4 5=15units/day
Days - 10 15 12
(A) (B) (€)

=A+B+C one day work = 15 unit

= They will complete the whole work in
60

== = 4days

15. (a) Amanand aboy get Rs. 800 for 5 days
800
A man and a boy get Rs e 160 for 1day

If man is twice efficient than boy. So their

www.jkchrome.com www.jkchrome.com



25 www.jkchrome.com www.jkchrome.com

efficiency will be inratioof2 : 1 (M : B) 18.
1 1
— X = . —_
3 160 = Rs.53 3

16. (b) Try to solve these kind of question by option
Because of his being absent he was paid
Rs. 750 less Now check with option, Since
max. possible daily wages is asked so it will
be 250
Or
It is required to find the highest common
factor (HCF)

5000/ 5750 \ 1
5000
750 5000 \ 6
4500
500 J 750\ 1 18.
500
250 /500\ 2
500
X

eff. 3 4
Q 20. (c)

17. (d)

12 8 6

Days (A+B) (B+C) (C+A)

2(A+B+C) =9 units/@

9 units
A+B+C=E
(C+A) = 4 unit 2
4
B’s one day\wo -
2 1

21. (¢)
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(a) Let total work be 50 units

% X any multiple of 5
4
A does 3
= 40 units in 20 days
So,
A’s 3 days work
=2 units/day x 3 days
=6 units
.. Left work=10-6 =4 uni
So,

4
B’s work per day =Q
0
. s .1
B’s will dow —=37—days
3 2

(c) Let total wo

4
th of work —)EX 50

e 1 unit

The

> work in 4 days

10 1
= 13§ days

ill complete the whole work in

1 ki
work in—

120

eff > 4 5\ 6

Days - 30 24 20
(A+B) (B+C) (C+A)
=2(A+B+C)=15

15
(A+B+C) = B units/day
(A+B+C)’s 10 days work = 175 X 10=75
units
Work left 120 — 75 = 45 units

Now A will do remaining work in
A’s work -

15
A+B+0)=(B+0)=~

5
- 5:.>E units/day

A will complete = ———
P unit/day

45
= ?X 2 =18 days
24

\
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Unit/day - 3 2 6
Days = 8 12 4
(A) (B) (A+B+C)
Efficiency of C
= A+B+C-A-B

= 6-3-2=1unit/day
efficiency of B = 2 units
efficiency of A = 3 units
Share/profit of C =
eff.of C

X Total t
Total ef. otal amoun

24. (a)

1
= 3 X 4500 = Rs.750

22. (a) 25.

Days - 12 8
(A+B)

(
(A work is 3 units
A ork is 2 units

's‘one day work = 3 — 2= 1 unit/day
complete the whole work in
T.W

Unit done per day

24(T.W)
L 2
Unit/day - 3\

23. (c)
40

Units/day A

www.jkchrome.com www.jkchrome.com

units/days K
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Days 5 8
(A+B) (A)

(A+B)’s one day work = 8 units

A’s one day work = 5 units

So, B’s one day work = 8 — 5 = 3 units
B alone can do the whole wo

40 1

—=13

T.W

efficiency

20
A+B) (B)
+B)’s one day work = 4 units
one day work = 3 units
A’s one day work = (A+B)’s work — B’a work

=4 —3 =1 unit
A will complete whole work in

60
T= 60 days

1
(b) A completes 3 unit of work in 5 days

A completes 1 unit of work in

5
TX3 = 15days

2
B completes s unit of work in 10 days

10
B completes 1 unit of work in ?XS=25

days
TW
75
Units/day 3
15 25
Days (A) (B)

(A+B) one day work =5 + 3 = 8 units
(A+B) complete whole work in
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75 3 15 12 20
=35 = 9 §days
8 10 6
(A+B)  (B+C) (C+A)
eff. of : 2(A+B+C) = 47
47
A+B+C = >
(A+B+C) will complete the whole work in
26. (b) TW 120 m _ i .
24 77 47 T
2
- ) 29. (c) TW
efficiency -4 3 \8 units 24
units
days> 6 8 3 .
(A)  (B)  (A+B+Q) Units/day o 2
C’s efficiency is (A+B+C)’s efficiency 12
(A+B)’s efficiency 8 — 7 = 1 unit/day +B) (8)
So, C’s share will be in ratio (s one day work = 2 units/days
g : ) Tot8al A’s one day work = 3 — 2 = 1 unit/day
' O 4 days work of ‘B’ = 4 x 2 units/day
= 8 units
%100 x400 K Work left =24 — 8 = 16 units
A will complete the remaining work in
00 3200 16 units —16d
Rs.4 0 1unit/day s
2
27. () L 4 30. (a) TW
24
S units/day Efficiency - 3 \2
> Days > 6 8 12
en) (men+son) (A+B+C) (A+B)  (B+Q)
A k=4-2 =2 units.
Son’s efficiency = 5 — 3 = 2 units/day B': z:: :::’, \\:g:k —3-9=1 E:::s
15 - -
Son will do in Py 7.5 days C'sone day work =2 -1 =1 unit
A and C complete the whole work in
T.W 24
28. (c) 120 = = 8 days
eff.of A+B 2+1
31. (b) TW
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33.

(b)

(c) P
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36 .13
R completes full of work in T x 3=39 days

1

S completes = of work in 7 days
Unit/day > 4 \3 6 ”
S completes full of work in Ix6=42 days
Clearly, we can see R completes the work

18 9 12 first.
Days - (A+B) (B+C) (A+C)
= 2(A+B+C) = 9 units/day

A+B+C_9units
"~ 2 day

A+C = 3 units/day

B’s one day work is
9 3 9-6 3
= = Zayni 34. (c)
= 271 > > units/day @

% efficiency - 4
= B completes the whole work in = ?
= 24 days
2 12 15
A completes ; units in 8 days daysho> (A) (B) (€)
3 B+C one day work is (6+5+4)=15 units.
A completes 1 unit in 8x E= 12 days (A+B+C) can do the whole work in
60
3 — —
B completes Eunit of work in 6 days O T 4 days
5
B completes 1 unit of work in 6 x g 0 5. (a) TW
days 0
60
efficiency 5 2
Units/day 5 gu
days - 12 30
12 days Oday; (A+B) (B)
(A) (B) (A+B)’s, one day work is 5 units
A and B will whole work in B's one day work is 2 units
W) 60 So, A one day work is =5 — 2 = 3 units
= = A will complete the whole work in
aencsyofA+B) 6+5 60
11 days = ? =20 dayS

1
letes Y of work in 10 days

10 .
P completes full of work in =—x4=40 days 36. (0

TW

1 2
Q completes 40% of work in 145 days

Q completes full 100% of work in efficiency > 6 3\2
145
=70 X 100 = 362.5 days
12 24 36
)

1
R completes = of work in — 13 days
3 days> (A (B) Q)
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A+ B + C =11 units/day

A +B+C do whole work in

72_66d
11 ays

37. (c) 68(T.W)

Unit/day > 24 21

Days > 7
(A) (B) (A+B+Boy)
Boy’s efficiency = Total eff. — eff. of A+B
=56 —(24+21)
=11
For 56 units (A+B+Boy)get Rs. 1400
. 1 units (A+B+Boy) = Rs. 25
Boy get 11 units = 25x11=Rs. 275

38. (a)

O

Hrs 7x6=42 7x8=56 41. (a)
(A) (B)

Units/hr

A+B one hour work = 7®nit
= (A+B)’s 8 hours work = 6

units/day
168
le wor n= =3
56

(A+B) complete
days

39. (a) TW

120
unit/hr 3 2
42. (d)

hrs 8x5 6x10
(A) (B)
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A and B do 5 units/hour so they will do
5x8=40 units in 8 hours or a day. And the
whole work will be complete in

T.W
“40units/day
120 3d
= g =3days
T.W
Units/day >

10
days-> (A+B
2(A+B+C) =

—units

“AfBz )deay

units

days

> 6= > its/d
> =5 uni s/days
60
C will complete the work in = %
= 40 days
TW
60
efficiency > 2 \ 1% unit/day
20 30 60

Days—> (1 man) (1 woman) (1 boy)

(2 men and 8 women)’s one day work is

=[(2x3)-(8%2)]

=6+ 16 =22 units
In 2 days (2 men + 8 women) will do = 44
units Remaining work 60 — 44 = 16 units
will be complete by boys in 2 days.
So, 8 units of work will be done by boys in
1 day and one boy does one units/ days. so
8 boys are required to do 8 units.

=8 boys
60(T.W)

efficiency
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days 12 15 20
(A+B) (B+C) (C+A)

2 (A+B+C) = 12 units/day
A+B+C = 6 units/day

(A+C) complete 3 units/day
B’s one day work = 3 units.

B will complete whole work in

_S0_ 20d
=3 = ays
43. (c) TW
40
efficiency 5 4
8 days 10 days

(1man+lwoman) (man)

(M+W) one day work = 5 units
M’s one day work = 4 um
So,

Woman'’s one day work =

44. (d)

iciency 1

days > 6 12
(A) (B)

A+B can complete the whole work in

T.W

™

Woman will co = ¥ =40 days

efficiency of A andB -
= 4 days
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45.

46.

O

47. (d)

48. (b)
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1
(a) Acando z of work in 5 days

5
A can do 1 of work in ?6= 30 days
2
B cando gof work in 8 days

5
B can do 1 of workin 8 x ?20 days

TW
60
efficiency 3 unitsfday
days - 30
(A) B)
A and B will co te the whole work in
2 60 =12d
“2+3 e
Units/day /\

days - 20

(A) (B)
(A+B’s) one day work is (2+1) units
(A+B)’s 5 day work is 3x5 =15 units
Work left =40 - 15 =25

fraction of work left
work left 25 5

~ totalwork 40 8

efficiency //\

days - 20
(A) (B)
(A+B) can do the whole work together in
60
=—=12
31z L2days

TW
84
efficiency /\
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49.

50.

51.

52.

(d)

(b)

(c)

(c)

31 www.jkchrome.com

28
(A)

days - 12
(A+B)
B’s efficiency = (A+B)-A
=7 -3 =4 units/day

B can dig it alone in

T.W _ ﬁ
efficiency of B~ 4
= 2ldays

W
84

Wages - Rs./day4 3

days - 21 28
(A) (B)

(A+B)’s one day wage = 4+3 =Rs. 7
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24
efficiency 3/ 2 3
8 12 8
Days (A+B) (B+C) (C+A)

= 2(A+B+C) = 8 units/day
A+B+C = 4 units/day

(A+B+C) will complete wh or
24 6d
=7 = ays

@0

Money (Rs. 84) is sufficient to pay wages

for

84 (total money)
= (4 +3) onedaywages
= 12 days

(A+B+C)’s one day earning = Rs. 15
(A+C)’s one day earning = Rs. 94
B’s one day earning = (A+B+C)-
=150-94 =Rs. 56
(B+C)’s one day earnin?=

20
(R+P)

(P+Q)

(Q+R)

="2(P+Q+R) = 12 units
P+Q+R = 6 units

Q+R =4 units

P =6—4 =2 units/day

60
P alone will complete in = T30 days

TW

www.jkchrome.com

TW
60

)

efficiency 6 /1 5

12
(C+A)

days 10 6
(A+B)  (B+C)
2(A+B+C) = 21 units/day
21
A+B+C = - units/day

(A+B+C) will complete whole work in

60
A: —
> 5 7 days
54. (b) TW
9

Units/hour 3 4

9 9
—hr 3hr —hr
2 4
(A+B) (B+C) (C+A)
= 2(A+B+C) = 9 units/hours
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57. (c) TW

9 .
A+B+C= Eumts/hours 60

(A+B+C) will complete whole work in

jI‘.—W 2 = 2 hours Units/day 5
units/day 2
2

55. (a) 120 days 20 10 12
(A+B)  (B+C) (C+A)
2(A+B+C) = 14 units/day

1 5 14 A+B+C = 7 units/day
(A+B+C) will complete t holework in
60 4 d
— =8—=da
60 7
8 24 -
(A+B) (B+C) (C+A) 58. (c)

efficiency

2(A+B+C) = 34 units/day
(A+B+C) = 17 units/day
A+B= 15 units/day

So,
C=17-15 =2 units/day
C will complete the whole work in ays 72 120 90
120 (A+B) (B+C) (C+A)
- = 60 days
2(A+B+C)= 12 units/day
56. (a) 60 (A+B+C) = 6 units/day
In 3 days.
A+B+C will do =6 x 3 = 18 units
Units/day In 3 days the part of work will finish in =
3dayswork 18 1
T.W 360 20
days 10 12
(A+B) (B+C) 59. (d) Skilled  half skilled unskilled
1 1 1
ef ficiency— : - -
2 (A+B+C) = y & 2 Y 3 4 6
A+B+C itsfday efficiency 4 : 3 : 2
B+C= i
A’s one . Skilled  half skilled unskilled
(A+ +C) one day of work No. of days worked =
5 . 7 8 10
T 5= 2 units/day Work done = (7x4) + (8x3) + (10x2)
| complete whole work in = =72
60 ined | . 28 369-
=< = 24 days Trained labor get : =2 x 369=143.50
2
60. (d) TW
mn

/\
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efficiency > n m

days> m n
(A) (8)
efficiencyof AandB=m+n
(A+B) completes the work in
T.W mn

ef ficiency (A + B) “m+n

(b)

61. (d) TW
12
64.
efficiency > 3 1
days> 4 12
(A) (B)
12
A+B can do whole work in =3 days
(3+1) 0

62. K

1
(c) Acando " units of work in 10 days
A can do 1 unit of work in
10

40 days

L=

4
1
B can do ; unit of work inl20 S

B can do 1 unit of wark in
20
=6ﬁd S

120

days > 40 60
(A) (B)

A+B can do whole work in

20 _2ad
3+2 00

63. (d) TW

60
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efficiency > 6 5
days> 10 12
(Raj+Ram) (Raj)
Ram’s efficiency = 6 —5 =1 unit/day
T.W
Ram completes whole work in ——————
iciency
60
— = 60days
1
According to questic
If the total worksis 23 ts A and C
completed 19 unit
together it ns 23 — 19 =4 units is
completed by B
® 4
So nt'paid to B is = Z x575=Rs.100

180

Efficiency > 5 3 4

36 60 45
Days - (A+B) (B+C) (C+A)

2(A+B+C) = 12 units/day

A+B+C = 6 units/day

A+B =5 units/day

So,

C=6-5=1unit/day

and C will complete the whole work in

180
= = 180 days
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66. (d) 60
5 3
12 20
(A+B) (A)
(A+B)’s one day work = 5 units. 69.

A’s one day work = 3 units

B’s one day work = 2 units

B’s half day work = 1 units

Now,

(A+B)’s work/day=3 + 1 = 4 unit

(a)

(d)

(d)

70.

60

Work done by (A+B) in = iy
= 15 days
67. (a) According to question,
T.W
A O
efficiency 3 5 units/day
days - 20 12 0
(A)
2
9 days work of B is 9x5 u units 71.
Work left = 60 — 45 = 15 uni
15
Now, A will finis 'nin?w in 3
days
68. (c) TW
48
iency > 3 6
16 24 8

days - (A) (B)  (A+B+()

C’s one day work or efficiencyis6 -3 -2 =
1 unit
As we know wages/rupees/profit always

www.jkchrome.com
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divided in ratio of efficiency / ratio of part
of work done to total work.
Here,

A+B+C : C

x160 |x160

Rs.960 Rs.160

Earlier :

No of worker 15

Wages 22

Total wages 33
Total wages

s> 36 48 12
(Stanic) (Paul) (St+pl+Expert)
Expert’s efficiency = 12 -4 -3 =5 units
Remuneration of expert:

5
— X 28,00 = Rs.12
12 8,00 = Rs.12000

According to the question,

Total work
150

25 30
.. A does 6 units in 1 day
B does 5 units in 1 day
.. Total work of (A+B) in 1 days = 11 units
In 5 days (A+B) work = 11 x 5 = 55 units
.. Work left = 150 — 55 = 95 units

19

.> Ratio =ﬁ=ﬁ
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72. (c) x= 4hr

2
8
1
y = 8hr
— 8 — '
x+y= §h = 160 minutes 77, (d) 60
73. (c)
X =% w = 6D = 24D efficiency >
\
48
3 days > 12 5
1 / (A) @ (R*B+C)
X = 2 w = 6D = 24D
48 3
x+y)=—-= 9§ days '\J(T\‘:,B+C) O
5
74. (a) Efficiency ¢
Total 8 x80
A = 24 days work/ 5
B= 5days 120 5.960 Rs.400

5
Co12days— >~ s

A+B+C 39 (T. W)
N d Total work 120
0.of days = Efflaency 39 K
= 3 13 days Q efficiency 6
75.
(d) Janardan completes = of work igl 1

days > 8 3
Janardan completeloﬁ/v i (1Y) (II“") (III"’) (I+11+111+1V)

10x3
=15 days

Janardan completes ‘days P

=IV " person efficiency
=16-6-4-3 =3 units

Janardan comple . work in =15x %=9 16 units - 1200
days lunit - 75
3units - Rs. 225
76. (a) T.W 79. (a)
iency -2 5 12
Efficiency >
days > 15 12 5
(A) (B) (A+B+C) Davs > 16
C's efficiency=12-5-4=3 ¥ (A) (B) (A+B+C)
C's share:
3 C’s efficiency =8 —3 — 2 = 3 units
R X 1200 = Rs. 300 A:B:C Total
3 : 2 : 3 = 8
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81.

(b)

(b)
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x50 x50 x50 x50 82.
Rs.150 Rs.100 Rs.150 Rs.400
TW
60
efficiency > 5 4 3
days > 12 15 20
(A+B)  (B+C) (C+A) 83. (a)

Efficiency of 2(A+B+C) = 12 units/day
(A+B+C) =6 units/day

A’s efficiency

=(A+B+C)’s — (B+C)efficiency

=6-4 O
A’s efficiency = 2 units/day K
A can complete the whole work in

- O

efficiency
=5 = 30 days ’S

Let total work efficiency

84.

B A
yS 18days

... efficiencies of A+B =3
efficiency of A =1
thenb’'s=3-1=2
.. time, taken by B to finish the work =
Total work
efficiency
18

=7=9days
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(b)

(b)
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24[T.W]

eff. X\ 4
days 8 12 ? 6
(A+B) (B+C) (C+A) (A+B+C)

Let efficiency of (C+A) is *
A+B+C one day work =
2 (A+B+C) one day v
One day work of ( ;
2(A+B+C)
3+2+x= 8,®its/day

24
Total days ‘e ft. = 8 days

60
(Total Work)

4, 6 5
(A+B) (B+C) (C+A)
15days 10days 12days

S A+B+B+C+C+A =4+6+5
=2(A+B+(C)=15

= (A + B + C)total effi. = 7.5

= Time taken by (A + B + C) together to
complete the work

_ Totalwork 60 —8d
ST effi 75 o0
> (B+C)=2d
10 = 2 days
B+C—2x10—20d
: = T3 ays
E(A+B+C)=2days
A+B+C=4days
(Total work)
20
5 3
A=5-3=
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86.

(c)
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87.

2
20
4 —
3
A+B+C B+C
20
A alone will complete the work= rY days =
10 days
(b)
24
Efficiency 8
days > 8 3
(A) (B)

A construct in 6 day
6x3=18 units construct

1
A completes in oy =7§ days

Now work left after destroying by
B =18 —16 =2 units
Now A will do 24 — 2 = 22 units
22 < ’

¢

efficiency
units/da
units/d

72 120 90
(A+B) (B+C) (A+C)

2(A+B+C) = 12 units/days

(A+B+C)= 6 units/days

(B+C) one day work is 3 unit

A’s one day work is = 6 units — 3 units = 3
units/days

360
A will do whole work in = T=120 days

www.jkchrome.com

89.
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(d)

(b)
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T.W
60
Units/day—> 24/ 3| f\4 = 9 units/day
Days—> 30 20 15
(A+B) (B+C) (C+A)
2(A+B+C=9)

Efficiencyof A+ B + C 2

Work done by A, B ogether
_ 60 120
— T —

k efficiency and time are
rtion to each other.
P o Q

(6m +48b) x 10 days
=(26m + 48b) x 2 days

myt;d; mztde]

wi W3
30m +40b =26 m +48b
4m =8b
m=2b
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m 2 m 2 = efficiency of man
b 1 w 1- ef ficiency of woman
1m (work) = 2 units/day
1b (work) = 1 units/day Total work = 3x2x16 = 96 units
Hence, One day work of (12m+8w) =12 x 2 + 8 x
Total work 1=32 units
=(6x2+8x1)x10 . 96
=200 units Total time taken by (12m+8w)= 3 3 days
Required time
(15m + 20b)
200 200
“USx2+20xD) 50 _ rdays
90. (b) 5M x6days =10W x 5days
3M x 5W
M 5
w 3
1M (work) = 5 units/day
1W(work) = 3 units/day L 4
Hence,
Total work = (5Mx6)=5x5x6=150 units 93. (d day at work is same. So we can
Required time for (5W+3M) directly
_ Totalwork men = 20 women
"~ Work done/day 4 men =5 women

150 _ 150 5 women =4 men
4

(5x3+3x5) 30 1 _
women = —men

K 5
4

91. (a) 15 women = = X 15
m1t1d1 _ mztzdz] 15 125

- women = men

= 5days

Wq W
10M x 20days 20B 0d@vs = 16 men complete a work in 25 days
260 Mats 260 1 men complete a work in = 400 days
10M =20B 28 men + 15 women =?
1M=2B 28 men + 12 men =40 men work in
M 25x 16
. 4 ———— =10days
"B 40 Y
. 1M wor Alternate:-
1B work 16M or 20W — 25 days
Mats ma M +4B) in 20 days 28Mand 15W —» ?
16 X 20 X 25 10d
= ays
ays _ (8M + 4B) x 20 days (16 x 15) + (20 x 28) Y
ats x mats
94. (c) According to the question
10 X 2 x 20days 20 x 20days 5 men = 8 women
260m B xm If 8 women is equal to 5 men

. 5
Then 4 women is equal to= = men
After solving, 2

X = 260 mats 2men+4women=2m+§m=zm

Now,
5 men completes the work in 12 days
1 men completes the work in =12 x 5 days

92. (c) ATQ
3mx16 =6w x16
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12X5 Unit/day 2 1
9

9
> men completes the work in =

= 13l days 6 men 12 women

Alternate

5m x 12 = 8wx12 _12x20 (16 + 16) x days

m 8- efficiency of man 1 work 2work
w 5 - efficiency of woman 32 x days
Total work =5 x 8 x 12 = 480 units 12x2= >
One day work of (2m+4w) days = 15 days
=2x8+4x5=36units
480 . .
Total time taken by (2m+4w)= — 98. (a) According to questiop
1 36 (2 men +1 wome
= 135 days =(2men+1w
14 men + 7women/s 8m b women
95. (d) ATQ, 6 men =3 VigQe
3m x 43 = 4w x 43 2 meg> 3 women

m 4 - efficiency of man
w 3 - efficiency of woman
Total work = 3 x 4 x 43 units

es always divided in the ratio of

One day work of (7m+5w)=7x4+5x3 = efficiency)
43 units O .
Total time taken by (7m + 5w) O 3 women will get = Rs. 1200/days
3 X 4 X 43 2m = 3w]
=—5 = 12 days 1 woman will get =400/days

=12x§=16days

3
39. (b) Jyoti does = unit of work in 12 jyoti does 1
9. (a) 70 . 4
unit of work in
4
ni 0

efficiency > 10

According to question
Mala : Jyoti
efficiency - 2 : 1
7 men 10wo Time > 1 : 2
= efficiency of en)
=(14 x 10) + (20 8 x8
=140 + 140
=280 8days 16 days
Let ‘B4da .
@ 0 = 280 x D 100. (c) According to question
0 600 A : B c
L efficiency 2 1
2 1
= 4 2 1
units/day
(A+B)’s one day work is (4+2) units =6
units
97. (q) 12 And they complete in 4 days.

Sototalwork : 6 x 4 = 24 units
And C completes whole work in
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_ 24units 94 d
"~ lunits/day ays

101. (c) If no. of days remain same (Like in this
guestion for men, women and boys),
so it clearly shows

102. (b)

103. (b)

1 man =2 women = 3boys

www.jkchrome.com

(it means work done by one man in 88 day

will be done by 2 women in 88 days so th
show efficiency)

1 man =2 women

1
—man = lwoman

2
Similarly
1 boys = Eman

1 man + 1 woman

is

+ 1 boy will do work in :

1
1 man + Eman + gman

6+3+2 11

G = < men
1 man does in 88 days
11 p . 88x6
o mandoes in = —=

= 48 days

oS

Tapes : al i
Efficiency 2 |
Units/day

T+ M comple daﬂ
Total wor 36 units
Tapas alone ¢ te the whole work i

36
-5 = 18 days

ing to questions,
+3W) =4m
dm—-2m
3w=2m
3m+3w=3m+2m
S3m+3w=5m
4 men can do work in 20 days

1 man can do work in 20x4
0x4

2
5 men can do work in =16days

Alternate:

www.jkchrome.com

105. (b)

n

106.

107.

www.jkchrome.com
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(2M +3W) x 20 = 4M x 20
M 3

w 2
Total work = (2 x 3 + 3 x 2) x 20 = 240 units
5 mens efficiency =5x3 =15

240
Required no. of days = 1—5:16 days

104. (a) 20M x 20 days = 24W x 20 days

5M = 6W
X6 = X6
30M = 36W

So, (30M+12W).co
in

he whole work

24W x 20 = ( + ) x X
24W x 20 = (36 2W) x x
24 = A8W x x

20 days = 24W x 20 days
M =6W

6
w 5
Total work =20 x 6 x 20 units
Efficiency of (30M + 12W)

=30x6+12x5
=180+ 60 =240
20X6X%X20
Required no. of days = ———=10 days
20W x 16 =16M x 15
20W =15M
4W =3M
M 4
w 3
. Man Woman
4 : 3

We can clearly see the clue that (men +
women) are half in second case

So, 6 men + 8 women can do work in 10
days

3 men + 4 women can do work in 10 x 2 =
20 days

Equating the work

(2M +3W) x 10 = (3M + 2W) x 8
After solving
We get, 2M =7W
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108. (b)

109. (b)

110. (c¢)
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Total work =(2x7+3x2)x10

=20 x 10 =200 units

Eff. of 2M+1W=2x7+2=16

200 25
. number of days = = -
1 16 2
= IZEDays
A : B

Efficiency

: 1 (giveninQs)
(inversely
proportiona

Time

1 : 2

Total work = (one day’s work of A and
B)x(Total no. of days)
=((2+1)x14

T.W =42 units

42
A alone finishes in = TZldays

5 men + 2women

4 work

1 man =2 women

man

M
2

woman

= (1 man + 1 woman
5 men+2 women=4men+4women 0

w
1

2

1 L 2

*

According to que

8men =17

(Becau

S

o a work in same no. of

12 men 7women

Total work = 17x33x3
(Let 1 woman works 1 unit/day than 17
women will do 17 units/day)

www.jkchrome.c:

om

111. (a)

112, (a)

10 days

O

www.jkchrome.com

12 men + 24 women

51 24 99
7women + Twoman = 7women

- will do (17x33) work in
17x33

:>—929 x 3 = 34 days

Man Woma
Efficiency 3 : 2
One day’s work of a ma d a'Wwoman = (3

+ 2) = Sunits
Total work =18 x @ its
A woman ca pléte the whole work

90
in T45da
(3me boy%lz days =(4men + 3 boys)

18imens 24 boys = 20men + 15 boys

4 men + 3 boys =(2x9) boys + 3boys =21
oys

21 boys can do a work in 10 days

Total work =21 x 10 = 210 units

2 men + 3 boys =9 boys + 3 boys

(Fromeq i)

=12 boys
12 boys can do 210 units in
210 35 17 ld
12 2 2%
Alternate:
(3M+4B) x 12 =(4M+3B)x10
2M =9B
M 9
B 2

113. (a)

www.jkchrome.com

Total work=(3x9+4x2)x12=35x
12units
Efficiency of 2 men and 3 boys
=(2x9)+(3x2)=24
3_5

Time taken by (2M + 33)#
24

1
= 175 days

According to question,
8 men =12 boys (Description same as Q
187)

4 Men = 6boys
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20 men + 6 boys = (20+4)men

=24 men
8 men can do a piece of work in 16 days
24 men can do a piece of work in

www.jkchrome.com

= 35 units/day
Time taken by (5M +5W + 5C)
10x4x7

35
= 8 months

115. (c) According to question,

16 X 8 _ 1
24 73
Alternate :-
8Mx16=12B x 16
8M =12B
M _ 3
B 2
Total work = 8 x 3 x 16 units
Efficiency of (20M+6B)

= 20x3+6x2=72units
No. of days=5%days

114 (d) 10 men =20 women =40 children
(efficiency of men, women and children
will be in calculated by this ratio.

As they complete work in same days)
Convert them in one figure:
10 men =20 Women

(2men + 3 boys)x 10 days
= (3 men +2 boys)x8 days
20 men + 30 boys = 24 men +

2 men =7 boys
2 men + 1 boy =7 boys
From i* line :
2 men + 3 boys =
= 10 boys giv,
10 boys can do a piece of work in 10 days
1 boyscand iece of work in 10 x 10
8 bo n do a piece of work in

10’ 10

8

= 8 boys

s& 3'boys

—121d
=125 days

10
%men = 1 women - 5 women O
1 5

=E>< 5 =Emen...... " )

=32 men ... ... ... (ii)

5 men + 5 women +5 child

5 5
=(5 +—+—) men

20 %0 45 3
+ 10 +
= — en®
4
Now,
7X10
If10 m

oaworkin?=8

Months = 20W x 7 Months
C x 7months

10 M = 20W =40C

1IM=2W =4C

M W C

=321 « Efficiency

Total work = 10 x 4 x 7 units
Efficiency of 5M + 5W + 5C
=5x4+5x2+5x1
=5(4+2+1)
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4 117. (d)

K]_].s. (c)
1 1 120
Zmen = 1 child - 5 children = =
5 Efficiency 2 1A 5

days> 6 10 24
(man+woman+boys) (man) (woman)
Boy’s efficiency is =20 — 12 — 5 = 3 units/day

120
Boy can complete the work i e 40 days

40 men = 60 women = 80 children
2 men = 3 women = 4children
2 men = 3 women

2
1women = gmen - 10 women

2 %10 20
—_— - o —

3 3 men
Similarly

2 men = 4 children

1
1 children = Emen — 10 children

=?=5men
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10 men + 10 women + 10 children

20 30+ 20+ 15
= 10men+?+5 :3—
10 men + 10 women + 10 children

65
= 3 men

119. (C)

40 men can do a piece of work in 6 months
1 man can do a piece of work in 6x40
65 6X40

? men can do a piece of work in =3
3
1
= 11— months
13
40 m = 60w = 80c
2m =3w =4c
m:w:c=6 : 4 3 (Efficiency)

Total work = 40x6x6=1440 units
Total time taken by (10m+10w+10c)

Total work _ 1440 =11 1 d
Efficiency 130 13 “%°

TW
15
Efficiency A

Days> 5 3
(A+B)

(2A+B) < :
Assume A eff. is 2 units B"Slis 1/units.

Now,
So it satisfies the equat?o 0
So actual efficiency of A is

O

A alone complete the,work ‘n FFiciency

1

120. (d)

www.jkchrome.com

IM+3W+4B 2M+8B 2M+3W

96hr  80hr  120hr

5 6/4

480

2M +8B = 6 units/hr,
So,1M+4B=3u %
1M+3W+4 hr

3W+3=5
3W =2 units

it fhr

w

= 1unit/hr
Hence,

2M +8B =6
2+8B=6
8B=6-2=4

B_1
T2

5M + 12B will complete the whole work in
480 480 480

TSM+12B 5x142 11
2

unit/hr

43 7h
17 s

(3 men + 7women)x 54,y

=(4 men + 6 women)x 4 g,

1 men=11women

3 men + 7 women

= (3x11)women + 7women = 40 women
40 women can do a work in 5 days

1 can do a work in 5x40 days

_ 5X40
10 women can do a work in T =20 days

121. (a) According to question,
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12 men = 24 boys

3men = 6boys

¥

x5
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15 men 30 boys

15 men + 6 boys = 30 boys+6boys =36 boys
24 boys can do a work in 66 days

1 boys can do a work in  60x24

www.jkchrome.com

= Then a group of 18 women can do
the work
M, x D' =M?x D,
12w x 8d = 18w x ?

) 24 12x 8 1
36 boys can do a work in = 44 days days = 18 = 5§days
Alternate :
12Mx6 = 24Bx66 124. (a) According to question,
ﬂzz = 4m=8w - 15 days
B 1 = i.e.4m=8w
. = Im=2w
Total work = 12 x 2 x 66 units — 6m+12w =2
Efficiency of (15M + 6B) . .
~(15x2 +6x1) =36 = Converting group into
Time taken by (15M + 6B) women
12 X 2 X 66 = 12w
3¢ - 44 days = 24wiE?
= M1 X 2 X Dz
122, (c) According to question, X =24x7?
1 man = 2 women = 3boys days = SZiS
% man = 2 woman, 1 man =3 boy ays= 5
—man = 1 woman, —man = 1 boy Therefore, time taken by a group
2 3 of 6m + 12w is=5 days
1 man+1woman+1boy=
1 11
1man + Eman + §man = Zman ) According to the question,
1 man can complete a work in 88 15 men = 20 days .
88 300 men =1das ....ccccveuuneee. (i)
11 11 24 women = 20 days
6 man can complete a work in 6. 480 women = 1 days ................ (ii)
days Compare equation (i) and (ii)
300 men = 480 women
123. (a) Given 2 5men =8 WOmMenN ..o (iii)
= 4m +6w - 8 day 10 men + 8 women =?
= 32m +48w 2 1day.: 10 men+5men="7?
= 2m+9w ays ¢ 15men=7?
= 16m+7 day3............. (ii) 15 men x 20 days = 15 men x x days
= Fro n (i) = (ii) x =20 days
= 8w = 16m +72w Alternate:-
m = 72w — 48w 15M x20 dayS =24W x ZOdayS
M 8
w5

Here, it is given that a group of
4m+6women can do the work in 8
days, converting the whole
equation into women.

4m + 6w - 8 days

(2 x2m)+6w - 8 days

(2x3w)+6w —> 8 days

6w + 6w —> 8days

12w - 8 days

i.e. 12 women can do the work in 8
days

=
=
=
=
=
=
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So, 1 man work 8 units work in one day
And 1 women work 5 units work in one
day.

Total work = hence, (10M+8W)

Work whole work in ‘D’ days

(10M +8W)x D = 15 x 8 x 20

(10x8 + 8x5) x D =15 x8 x 20
(80+40)xD=15x8x20

D =20 days
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129,

130.

126. (c) According to question,
3 men =5 women
(As they complete the same work in same
time)
6men + 5women= 6 men + 3 men
= 9 men
If, 3 men does a work in 12 days

1 men does aworkin=12x 3
12X%X3

9 men does a work in

=4 days
Alternate:-
3Mx12=5Wx 12
M 5

w 3
Total work=3x5x%x12=15x%x12 =

units
Efficiency of 6 M + 5W =

Time taken by (6M + 5W

127. (a)

10M x 12 days = 10
2M =1W

><6d3ys

required (10M+10W)
otal work

eff.
120 120

T10x1+10x2 30

=4 days

128. (a) Let ‘X’ are the men in working
M1D1 _ MyD,

= w,

By formula

www.jkchrome.com www.jkchrome.com
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x X 30 x+5) %20
1 =( 1) [30 —10]

= 20days

3x=2x+10
x=10

(C) Let additional men be x
25X4 (25+x)%x12

131.

132,

T =
workxg
x= 75

%(Remaining work 1—%)

A: B

AT.Q.

No of unit of work done 2

Time taken T 6

We balance the timg,of ith B.

We have to equal theirwork according to their

time ¢
AlJ: B A + B work

2

6 : 6

in 6 units time

: B =3 1—>3 + 1 = 4 units/day
Together they complete in10 days.
So, total work = 4x 10 = 40

40
B alone will do whole work in = T 40 days

(C) ATQ,
If kamal is 100 % efficient, then Bimal 150 %
efficient (50% more),

B _ 150 B 3
K 100 2
Kamal Bimal

Efficiency ——> 2 units/day 3 units/day
Total work. 15days x 2 units/day = 30
units

30
Bimal will do that work = 3 = 10days

(c) Let1 men does 1 unit of work per day
Total work : 8 x 12 = 96 units
6 days work of 8 men - 8x6 =48 units.
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134,

135,

136.

137.

138

139
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Work left -96-48 = 48 units

After 6 day 4 men join. So total men is 12 men (8
+4)

they will do 12 unit of work per day

Now,

48
Remaining work completed in - 2 4 days

(b) Let no. of persons be ‘N’
N x55 (N +6) x44
1 1
5N = 4N+24
N=24

(a)
8M X 9h x 20days

1 unit work

7M X 10h X x
1 unit work

141.

144

= 204d
- = - days

X =

(b) According to formula
Let ‘D’ is no of days.

639 x 12 x5 _ 30x6XD

1 raod 1 road

D =213 days

100

(a) Here work is 280 m length of wall an
length of wall
Let ‘M’ men will finish 100 m ro

72 x 21 Mx1

100

280

*

IpersonXOnr
amount

()

6prs

t calmed by 9 person =
. 9450

(a
5person X 8days X 7hr

1
_ (5 + zperson) X 4days X Hperday

1
10 = H per days

(d)
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140.

&

143,

144,

145,

www.jkchrome.com

4mal-waversX4day

4mats
8mat—weaversX8days

Nmats

= N = 16 mats

= 6hrs/day

4

(d) Let there were er of menin

beginning.

nu

Ogys = (N+8)menx(6o'1o)
40

12persons X 4days

1work
_ persons X 2 days

8 work
=persons =192

(b) let total No. of worker in beginning in ‘N’
According to question,

leoodaxs (N'lo)xloodays
1 work - 1 work

100N = 110N -1100
10N = 1100
= N =110
(b) According to Question,
Total work = 12Mx12D=144 units
Work done by 12 menin6 days = 12 x6
=72units
Best work = 144 — 72 =72 units
Required time for 6 men to complete the

72
work =—=12
6
Hence,
Total time = 12 + 6 = 18 days

Extratime =18 — 12 = 6 days
(d) By putting the value in formula as given in

question no. 71.
Let ‘N’ persons are needed to complete
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the work.
According to Question,

2men X 9days Nmen X 12days

1 work -

After solving,
N =3 men

More man needed =3 -2 =1man

2work

146. (b) Let’'n’ number of man can be discharged.
According to question

60 mgnxsogm‘s _
3 1 -
= work = work
4 4

(60'“ !mgn X30gﬂs

formulal] of40 = 60—n
Q71
n =20

147. (b) 60 men works for 200 days. They stops for
10 day due to bad weather.

Pren X P, P n n
So the work is to complete in (50-10)=40 el hours days _ nme:l ',wurf days
days in order to Punits Wunits
complete in scheduled time i.e. 250 3 3
d ) n n
aVS- P = —_—= W = —2
Let'n’ number of more man is requi w p
(60menx2004ays) + (60 + n) men x a
=60 men*2504days
151,
12000+(60+n)menx40days) = 15 > gd) 2
(60 + n)40 = 3000 person X 2days _ 100X D
60+n=75 2jobs 100j0bs
(D is no. of days required)
=>n=15
Alternate:- * After solving
) : D = 2 days
60 men can co work in 250 days
tsagtéhey (60+ )())“uc)iays. 152. (c) Let ‘n’ more number of man are required to
X ’ 5 complete the job in 20 days.
80days X 280worker
3.5km
1. lweek  x X lweek _ (280 + Mworker X 20aays
= - 1.5 km
7/8 1/8 After solving:
X=4men 480 = 280+n
N =200

149. (d) According to question, efficiency of a man, a
woman and a child are 5: 4 : 2. Units/days.
One day work of 2 men = 2x5 = 10 units
One day work of 3 women = 3x4 =12 units
One day work of 4 children = 4x2 = 8 units.
Applying formula, let time taken is ‘D’ days.
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(10+12+8)x10dav5
10hectare

(6men*5)+(4women*4)+(7 childrenx2)xD
16hectare

(30)x10 _ [60] X D

10 16
D =8days

G

*
150. (d)

plying formula) Let work done by ’'n’

men and women.

153. (c)

Tmen X 1244y _ (7 + n)mengdays

1work

2work
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(n is additional no of men required) 155. (b) A : B
21=7+n Time 1 : 3 (Description same as Q no 135)
n =14 men Work 1 : 2
Now equal the work of Aand B
154, (aJA : B A : B
Time3 : 4 Workg 2 : 3
Eff. 1 . 2 Time :
We have to do time equal so, X
A : B 3 @ 2
Time3xs : 4x3 (Description same as Q.no. 135)
Eff. 1aa @ 23 Total work = 10 gays X 5 = 50 uni
A. : B B alone completes whole work = 25
Time 12 : 12
Eff. 4 : 6 days
Both do the work in 18 days
So, 156. (c) B :
Total work = (A+B)’s eff. x 18 (100+40)% : @iven in Qs)
= (4 +6)x 18 = 180 units. 140 oy 1000
. . 180 7 5
B will complete the work in = - = 30 Effici 5
days
Alternate: m 5 - 7
A takes 3 th time of B
43 x3 x3
A=BX Z

5days 21 - (giveninQ’s)

A 3

32 [time]

A does half as much work as B. 157. (c) A : B

A 1 Efficiency 100% : 150% (Given in Qs)
-= E[work]

B
We know, A : B
m1h1d1 _ mzhza Efficiency 2 . 3
wq w2 ) ><
AX3 Time 3 2
1
A x3 x3
3=
(A+B)’ ay work = (3+2) = 5 units 9days 6days
x18 =90 units
Total Work 90
taken by B = “EffofB 3
158 (b) A : B
Efficiency 130% : 100%
Efficiency 13 : 10%
Time 10 : 13

Total work = A’s time x efficiency of A
(A+B) will complete the work in
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_ totalwork 13 x23
“eff.of (A+B) 10+ 13
= 13 days

159, (a) A : B
100% : 160%

Efficiency-» 5 : 8

Time 8 : 5

160. (c)
Xmen* 30gays = (X + 6)men % (30 - 1O)days
Xx30 = (X + 6)x 20
3X = 2X+12
X =12 men

161 (a)
Let Anu work for ‘T’
in 12 days.
18days"shrs=nd ys
T=12hrs

162. (d) Putvaluesin formula

_x+2

10x+10 = 9x+ 18
X=8

www.jkchrome.com
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163. (c)
A B
Efficiency - 100% : 140%
5

X

Time 7
x10 X

Actual time 70 days da

164. (d) According to qQO

x1.
ctual time 1

O Efficiency >
(T.W)

Time taken by A and B together to complete the

60
task = —days
13

5\+ /8 = 13

D

o

<
wv

165. (b) Let there were N carpenters in the beginning
According to question,
Nmen X 9days
lwork
_ (N - 5)men X 12days

1lwork

3N =4N -20
N =20 men

166. (d) Let there are N persons in the beginning and
Let there was 2 units of work in beginning.
Nx12 2N XD
2work  lwork
(D — days taken to finish the work)
6=2D
3=D
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167. (c) Let ‘H’ hours taken to finish the job
8Opersonsx]-6days><6hours =
64’personsx:I-Sdaysthours

After solving,
H =8 hours

168. (b) 3 men x 6 days = (3 men x 2days) +
[(3+3)men xD days]

18—-6=6xD

12

=
D =2 days
169. (b) According to question,
4 men = 6 women
2 men = 3 women
10 men + 3 women = 10 men + 2 men
10 men + 3 women = 12 men ............. (i)

4‘men X 12days X 7hours

1work

1zmen X Ddays X 8hours

2work

After solving we get

D = 7 days
L 2
170. (c) According to question,
XmenX Xdays: YmenX Ddays

2

p=2 L 4
y
171. (d) ‘n’ no of me drawn
(110 8aays) (110 —n)44
=72
Ework
(110 —n)22
(110-n)2
172. (b) Let 'n*number of men are required.
2OOmen X Sodays)
1
4
_ (200 + n)men x 100days
- 3
4
3x100 =200 +n
N =100
173. (b)Let ‘n’ no of men he discharged
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120men X 64days)
2

;work
(120 — n)jpen X 60
1
gwork
64=120-n
n =56 men
174. (a) 2 men can do a workin ‘x’ days
1 man can do a work in = (2xx)days
Y women can do a work in S
1woman can do a worki da
Iman : 1 a
days  2x
eff. 3y
Alternate:-
2M x x = yWx3
M
— W =3y :2x

%

175. (b) warker work in ‘n” hours

worker
Ehr X 184ays 124ays X Nhys
6 18
X — =
2- "
n =9hrs

176. (b) Let’H’ no of hours taken
15men X zodays X 8hours

1work
_ 2Omen X 12days X Hhours

1work

H =10 hours
177. (d) let ‘N’ no. of men are needed to complete
the whole task

Nmen X 5days _ 1Smen X 7days

3 1
3 work 3 work

N =63 men

178. (b) According to the question,
12X 6x240 18 x360 %8
= =

460 x

18 x 360 x 8 X 460
=>x =
12 X 6 X 240

= 1380
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179. (D)
_ 90men X 16days X 12hours

1 work

_ 70men X 24days X 8hours
- W work

90><16><12—70><24x8
B w
2 185. (d)
oW =17, W= 6 Ans.
180. (A)
M;D, M;D, 200 x 50 _ M; x 100
74 W, 1/4 3/4
M2= 300
So additional men
=300-200 =100
181. (c) According to the question,
20x10 10x«x

100 50

X =10 days
182. (a) Myx D1x Ty = Mx Dx T

15
12x8x10—16x—xD2

D, = 8 days
183. (a) From
mydst; mzdztz 0

Wy
Let extra workers be X
20x12 ($+

= 4x12
= 36=

orker =16

184. (b) 7
nitfday > A
8

24
(A) (B)
Description: So,
Again, we will take T.W as L.C.M. of no.
of days taken by A and B
and we will calculate unit/day work by A
and B)
If A and B worked for 8 days so they will

www.jkchrome.com www.jkchrome.com

Work
donein

work
donein - (A) (B) (C)

www.jkchrome.com

complete

(4+3)x8= 7x8=56 units of work

Work left = T.W —work completed =
72-56=16 units

Now 16 units will be done by B (3

units/day)
_ 16 _ 5 d
3 ays
T.W
36
Unit/day > 3

(3+ =5 units/day x 2 =10 units.
46 - 10 =26 units
a be complete by ‘B’ alone

ork left 26
'sefficiency 2

60

Unit/day > 5 4

10 12 15

In these type of questions where a
person left few day before the
completion of work, in that case
calculate the unit of work

he would have done if he had not left
the work and add there

unit in total work and divide by their
total work per day.

Here A left 5 days before, it means. A
would have done 30 units

and B left 2 days after ‘A’ it means he
left 3 days before completion.

3 days x 5 unit/day = 15 unit

total work they would have completed if
all of them had

worked till end.

Then, total work = 60+30+15 = 105 units
and their one day work = 6+5+4 = 15

www.jkchrome.com
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units/day
. 105 units
work finished in= —15units/day
=7 days 189. (b) According to question
A+B complete work in 30 days
60 Take L.C.M. of(A+B)’s time to calculate
the total work
Assume total work 30units
eff- 6 4 3 Hence,
A+B work/day = 1 unit/day,
(A+B)’s 20 days work = unit/day =
10 15 20 20 units
(A) (B) (C) Rest work =30-20-10
A and C work for two days. They Now,
completed Rest work done by 2

(6432 days = 18 units Then one day’s wotk of Az — =

work left : 60— 18 =42 units 20 2
Now A replaces by B
(B+C) one day work =4 + 3 ¢ 30
(B+C) complete remaining work in yAin= -+ =¢0 days
W _ 42 _ 2
off 7 ays
Total days 6 + 2 = 8 days
12
Total units of work = (A+B) x 30 = 2x30 = 60
A’s efficiency = 1
eff. 2/ + 1= . 60
Total time = T 60 days
6 days 12 days
(A) 190. (c)
3 days work of A and®B js its
Work left= 12-9=3 unit W
. .3 72
B finishes in 1 3days
total no. of da 3=6day Unit/day > 3 8\ 6
24 9 12

Days> (A) (B) (9]

B and C start the work, in 3 days they will do
(8+6) unit/day x 3 days =42 units
Work left =72 -42 =30

30
AWilldoin= ri 10 days

191. (c) TW
7x4x5=140
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(7x4) (7x5)
(A) (B)
ATQ,
B completes remaining work in 17 days.
It means he had done 17x4 = 68 unit of
work.
140-68 = 72 units
72 units of work would have been done
by A and B
together so they had completed in
72

m =8 days

A leaves after 8 days
192, (a) ATQ,

60-15 =45 days work
45 day’s work of A =30 day’s work of B

45A=30B
Efficiency = = 2
Icien T —
YBT3

Total work =2 x 60

2X60
Work done by A and B = =

(2+3)

days

193, (c) 30

Unit/day 2 =5 unit/day

Day 10

(B)
Wark o 5x 2= 10 units
Work 0-10 = 20 units

20
A will complete this work in ? =10 days

Total time 10 days + 2 days = 12 days

194, (a) 60

Units/day 3 units/day

www.jkchrome.com
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Day 20 12
(A) (B)

4 days by A=3 x4 =12 days
Work left 60 -12 = 48 units.

Now, A and B will complete in = = 6 days
543

Total time 6 + 4 = 10 days

195, (b) TW
5x9x8=360
Day 45 0

(A) (B)
al work in 23 days -23x9

cording to question
1 M + 1B complete the work in 24 days.
Last 6 days boy
alone does work.
They worked together for 22 days
(Because the whole work complete in 28
days).
Assume total work = 24 units.
(1M+1B)per day work = 1 unit
1M+1B do the work in 22 days = 22 units
work
Rest work = 24-22 units = 2 units
Rest work done by Boy in 6 days
Hence,

2 1

Per day work of boy = p = 3 unit per
day

1 2
Man per day work = 1— 373

Man alone can do the work in =
Total work

eff.of man
24
> X 3 = 36days

197. (d) TW
36

Units/day 2
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=36 units
Days 18 12 Total work left = 60-36 =24 units
(A) (B) , 24
And B will complete this in = T:S days
Description : see solution of Ques. No 5 201. (c) W
36+(3x3)=45(T.W) 180
A+B one day work = 5 units/days
45 Efficiency > 10 9 6
(A+B) will do whole work in (A+B) <= 9 days
18 20
Days > (A) (B)
(B+C) 2 days wo
(a) TW Work left =
60 A alone complet
_ 150
Units/day 3 2 N -
L 4
days 20 30 202. (c) W
(A) (B) 90

A’s 10 days work = 10x3 units/days =30 units

So, (60-30)=30 units of work would have been
done by A and B both and it took time: O 5 6 units/day
30
vy i {
So, B worked for 6 days Days 18 15
(A) (B)
(b) TW
18 B’s10 day’s work = 6x10 =60 units
0 work left =90 — 60 = 30 units
Units/day 2/ 1\ ¢ A does 30 units in= % = 6days
Days 9 18
(A)(B) S
See exp. Ques. No. 5
Add 3 days work is 3x2 = 6 units.
T.W= 6+18 = 203. (a) -
(A+B) one units efﬂaer\cy
24 (T.W)1units/day
They will plete in i 8 days 12 —> 12 days(A)
Time
(c) After 3days A finishes 3 units.
60(T.W) 3 units/day -
9units 2 3 days (A+B)
Units/day 5 4 (A+B)’s one day work = 3 units
A’s one day work = 1 units
Days 12 15 B’s one day work = 3-1 = 2 units
(A) (B) B completes whole work in = L
efficiency
Total work done by A and B in 4 days is (5+4)x 4 = % = 6 days
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204. (c) According to question,
Let the work is completed in ‘D’ days

45menx164ays = (45menx4 days)

+(45+36) menxD
540 _
81
D=6 2 days
205. (a) T.W
60
207. (c)
Efficiency 5 4 (T.W)
Days - 12 15

(A) (B)

(A+B)’s one day work = 5+4= 9 units
(A+B)’s5 days work = 9x5=45 units
Work left = 60-45 = 15 units

A completes the remaining work in =

= ?=3days

. O

206. (a)
90
¢

efficiency
days - 15

(B)

B’s.on 6 units 208. (c)
work = 6x10 = 60 units
left'=90 — 60 = 30 units

30
oes = 3 = 6days

www.jkchrome.com www.jkchrome.com
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2units/day

=2x 2 =4 units

2 days work of (
Work left =634=2dUnits
A Ietezthe rest work in 2 days

ncy = 1 unit/day
s efficiency is 2-1= 1 unit/day
B will complete the work in

1= 6 days

Work of A
(A+B)x1 = Ax2
A+B 2

TW
ef ficiency ternate:
15 K One day work of (A+B) = 2 days

A 1
A+B=2 =B=1

If A+B work together so, their efficiency
=2 units

Then total work = Efficiency x time of
A+B =2x3=6 units

6
B alone do the work = I° 6 days

TW
60

efficiency 3

days - 20 30
(A) (B)

(A+B)’s 7 days work is :

(3+2)x7 = 35 units

Work left : 60-35 = 25 units

If C does 25 units of work in 10 days. It
means C does 2.5 units/day
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209. (d) 24 20x2 =40 units
Work left : 60-40 = 20 units
(T.W)
Efficiency 3/ 2 2 20
lunits/day
Days > 8 12 12
(A+B) (B) (Q) 20 days
(A)
A and B work for 4 days they completed A’s efficiency 1 units/day
3x4 =12 units .
Work left= 24-12 = 12 units A will complete the whole wor iciency
, _ - ; 60
Bdeayswork-sz.-4un|ts — — = 60days
Work left = 12-4 = 8 units 1
Now C’s complete the work in Alternate:-
8 (A+B)x10 = A x20
5 = 4days A+B 2
1

A
TW=2 uriits
60
Tim lone = T 60 days

@ i) (T.W)
K 60
OQ Efficiency 105 4

I
|
5
&

Rest work = 60— —
rest work

Rest work completed by A+B = m
_ 105 —7—31d
T 2x15 2 299"

212, (b) 16 womenx12=12men x 8
210. (a) (T.W) 2 women =1 man
60 Total work = 12 men x 8days = 96 units
16 men do work in 3 days= 16x3 = 48 units
2units/day Work left 96-48 = 48 units
16 men — 10 men left = 6 men + 4 women join
30 days 6 men + 2 men = 8 men

48
(A+B) 8 men will do 48 units in ry = 6days

(A+B) worked for 20 days so, they completed 213. (b) Let ‘D’ days required to complete the job
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40menx18days=(40menxsdays)"'(somenxD)
720-320 =50D
D=8

216.

214. (a) 20 -> 18 days
= Work done by 20 men working together
=1 work
= Work done by them in 3 days working
together = 1x3=3 work
Remaining work =18-3=15 work

15 work is to be done by (20+5)=25 men
... Efficiency of 20 men=1

Efficiency of 1 men = 1/20
5 1

Efficiency of 5 men =— = - 0
20 4

Uy

=
= So, efficiency of (20+5)
1 5
= 25men=1+z = Zwo
wo

Required time =

5/4
Therefor

finish aining work
Alternate:
20menc ays
Soto =18x20 =360

work = 20x3 =60

After joining 5 men total men = 2045

300
So—=12 days
25

215, (a) 60
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A B C

A leave the work 5 days before
completion and B after 2 days when A
leave. S Do C work alone for the last
three days. C = 4x3=12 unit

Before it (B+C) work for 2 days = 9x2=18
unit

Remaining = (60-30) unij eb
(A+B+C)

No. Of days take A+B+C)
30 (6+5+4
15
Total days'= 3+2 days
(a) Le
( 40 days (X)

ay work = 1 unit
X’'s'8 days work is 8x1=8 units

ork left = 40-8=32
Work

2units/day

= left32 > 16 days (Y)
Y’s one day work = 2 units
X’s one day work =1 unit
(X+Y) an complete the whole work

togetherin =
_ 40 —131d
T Z2+1 0398
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(a)

Accor

LUl
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(T.W)

48
efficiency 4 3
days - 12 16
(A+B) (B+C)
According to questions,
A worked for 5 days and
B worked for 7 days

If A and B work together for 5 days
they would complete 4x5 =20 units
remaining work =48-20=28 units

Now B has to

work for 2 more days

and if he does it along with C for 2 days.
Then, both would complete (3x2) =6

units of work

Work left = 28-6= 22 units
Now C completes in 13-2 = 11 days

22
So, C works T = 2 unit/day

(efficiency)

And B+C does 3 units/day (efficienc
So B does 1 unit/day

B will complete the wh

48 days
(d)

—
)
¢
o
[¢]
/ S
I3

2 SO 30 days
2 G 20 days
A 5
- TR 5+10
[ S 10+8days

Work done by (A+B) in 5 days = 2x5 =10

work

Work done by (B+C) in 5 days = 10x3 =

30 work
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U4

(a)
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Total Work .....ccceeeeeveveernnnns 40 work
Remaining work = 60-40 = 20 work
Here we find that C does remaining 20

work in 8 days
Work

day

C’s efficiency =
_ 20 Work
" 8Days

5
2

5
C’s efficiency = ;work per,

Therefore, time taken on
complete the work

—60x2—24

60(T.W)

eff 2> 7

ay

¢

6 60
(P+Q) 7
(Q+R)
(Q+R) 6 days work = 7x6=42 Units
‘. P Completes = 60 — 42= 18 units
18
P’s eff. 3 6 units/day
Q’s eff = 10-6=4 units/day
R’s eff = 7-4=3 units/day
P completes whole work in = 6?0 =10
days
R completes whole work in =6?0 = 20

days

Diff, is 20-10=10 days

220. (d) Shortest method of doing this question is :

221,

www.jkchrome.com

(b)

M1T1D1 _ M3T;D,
Putin = formula
Wy W

So,

Let no of ‘ burner > ‘B’
6bx6hr><8day_Bx10x5

450 625

After solving 5B =8

1w/d(effi.)
X ¢ 24 units

24 days

According to the question,
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X - 24 days
= work done by X in 4 days alone =
4x1=4units
= Remaining work = 24-4=20 units
=> 20 units done by both together in
(16-4 days )= 12 days
= Then efficiencies of (X+Y)

work 20

12

=efficiency of Y = 2/3
= Time taken by Y alone to complete

24
the total work = % =36 days

Alternate:
X x 20 = (x+y) x 12
x 12
x+y 20

_ 3 - Efficiency of x

" 5 - Efficiency of (x +y)
Efficiency of y =5-3=2 units/day
Total work=24x3=72 units

72
Total time taken by ‘y’ = >

36 days K
Since we know efficiency and ti ( >
inversely proportion to each ot@

222, (c)
P : Q
Efficiency 3 49
Time 4 : 3
223, (b) Efficiency is alwa 'nvergl oportion
to time
A
Eff- .3 1
Time 3
2 units=60days 227,
1 unit = 30 days
30 days 90days
Unit/ 1
Days 3
2 _
1 ‘.
22 3 days
90 unit

TW
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(a) Ratio of time
A: B |A_ 150%_ 3
3:2 |B~ 100% 2

efficiency of work=2 : 3 (Timeand

efficiency inversely proportion to each

other)

Total work = 184ays%(2+3) unit = 90 unit
90 units

B Completes the work in = ———
3 units/day

= 30 days

If their daily wages are i

5:6:4(A : B

(b)

So wages of A for, =30
So wages of B fo x6=24
So wages o =9x4=36
A : B C total
= 30 : 24 :
= 5 : ‘6 = 15
Am by A= % x 1800 = Rs. 600
TQ. Time 1 : 2
3 1
Time 3 : 6 2
efficiency 1 3
6(T.W)

One day work of A + B + C = 6 units

So, A completes whole work in
T.W 6

—===6d
fficiency 1 ays
(c) A : B
efficiency (100+150) : 100%
250 100(A+B)
Efficiency 5 2=7 units/days
Total work= 154aysX7 units = 105
A can complete the whole work in = %5

= 21 days
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72
(d) According to question, 4 18days
A : B
eff> 3 : 1
time=> 1 : 3 231, (b) According to question,
2 units (A+C) : B (A+B) :
Difference : 2 units = 40 days C
1 unit = 20 days Time 1. : .3 Time 1_ :
2 X >
A : B
Time = 1 : 3 Efficiency 3 1 efficien
1=3
x20 x20 Since we know, effigi f persons will
Days = 20 60 remain same.
So we will
B
efficiency 3 1 (A+B) :
=4 x3
60 unit
= A+B completesin:
Tw 60 15d
eff. (B+1 0 iency = = 12
: 4 = 12
(c) According to question,
Efficiency A : B Now we can see, B’s efficiency is 3 units
2 - and C’s is 4 units and
If B does 1 unit of work A will do 2 total is 12 units.
of work. So in a day, So A’s efficiency is 12 =4 — 3 =5 units
they will complete 3 units of w Total work = 10gaysX12ynits
together. A can complete separately in
T.W 120
Total work = 12days X it day _ _ = 24 days
units efficience of A 5
B can complete the wh alonein
36 36 d 232, (c) A : B
= T otdays Efficiency (100-20) : 100%
80% : 100%
efficiency 4 : 5
time 5 : 4
x1.5 x1.5
24 days  72days
.. 2 units = 48 days . 1
1 units-> 24 days Actual time 72 6hrs
Total work = No. of daysx efficiency
=72x1=72 233, (a) A : B
One day work of P and Q is 3+1= 4 units. Efficiency — 100% : 125%
(P+Q) will complete the work in 4 5
Time 5 . 4
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x1.2 x1.2
4
Actual time 6 days 4; days
(d) T.W
12
Efficiency = 3 4.5
Days-»> 4 6
(Sunil) (Dinesh) (Ramesh)

One day work of sunil, Dinesh and Ramesh is

9 19
3+ 2 + = =—units/day

2 2
They will complete the work in
12
1—9 p— —
> 1 15 days

2
4
(A+C) : B
Time 1 : 4

efficiency 4 : 1=5

Since we know, efficiency of a person’s will
know, efficiency of a person’s will remain same.
So we will balance it.

A : B+C
B

efficiency x5{ 1 : 3 = 4 |x5|x4| 4

www.jkchrome.com
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5:15 =20 16
4=20

A’s efficiency : 5 units,

B’s efficiency : 4 units

Total efficiency : 20 units

So,

C’s efficiency 20—5—4 =11 units
Total work = 244ays X 20units/day
=480 units.

A alone will do whole w 96 days
(a) m
efficiency 1
total work (Efficiency of
m oman+boy) =

7daysx(4+2+1) = 49 units

o this work in = 4—19= 49 days

( ccording to the question,

=>2A =3B
A 3

B 2
=Then efficiencyratio A : B =3: 2

= We know that time is inverse
proportional to efficiency
=Then time taken by them in ratio
A:B= 3
4>£ lx4
8day 12day

.. Acan do the work in 8 days
=i.e. 2units>8

1 unit>4
=time taken by B - 3 unit
=3x4
=12 days

(c) A+B+C....cceueeee. 6 days
[6 days total work]
According to the question,
Ratio of their efficiencies,

A : B : C

6 : 3 : 2

Total efficiencies (6+3+2) unit= 11
units

Total work = 11x6=66 unit
Therefore, time taken by C to complete the work
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_ Total work _ 66 243,

~ Efficiences 2 33days

2000
239, (d) Rate of regular 1h = 50 = Rs. 40

Rate of additional hours = 1%x40=Rs. 60
2300-2000

No. of additional hours = —— =
60

5 hours

240 (a) According to the question,

A =1 8=-1
B 2 c 2
A : B : C
1 : 2

1x2 : 2x2
1 : 2 : 4

241, (d)eff. Of A = 3 efficiency of B
A=3
B

%th of work by (A+B) = 9 days
45
Total work (A+B) = 7 days will ge
completed
Total work = days x &fici

242, b orkers -» average wages is 200
Total wages = 200x500=100000
Correct read 80+220=300
Misread 180+20= 200+Rs. 100 is
difference between correct
wages and misread wages so we
will add this in 1,00,000 and then
divided by 500 then we find
average wages.

~1,00,100 _ 200.20
- 500 @ T
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(c) Firstline clearly states that efficiency of
A should be equal to combined efficiency
of B and C.(A take same time as Band C
together)
50
Efficiency lunit/day
Day 10 50
(A+B)
Total Efficiency =6
efficiency of C=1 uni
efficiency of A+B=5mnit
so, what should @ ency of B so that
A’s efficien mes/equal toB and C's
efficiency.
A + B

= 25days
(A) (A+B)
25hr 27hr
3 page/h 5 page/hr
75 (pages) 135(pages)
B’s efficiency
= (A+B)’s efficiency - A’s efficiency
=5-3
=2 pages/hr
B’s time
2pageinlhr

42 page in 21 hrs
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1
x4 5
x4
16 days
(a) 36(T.W) 4 Days
Unit/day > 3 2
247. (a) Letaman cando 1 unit/da
Days = 12 18 Total work = 40,enx40
(A) (B) 40 men can do the w

A’s one day work = 3 units 400 units
B’s one day work = 2 units According to qu @ > men left after
A starts the work and does 3 units and B does 10 days)
the work 2 units/days 35 men ca@ work in 10 days =
They both do 5 units of work in 2 days. They both 350 units
do 35 units of work in 14 days 3 cango the work in 10 days = 300

n do the work in 10 days = 250
) an do the work in 10 days = 200
Work left => 36 - 35 = 1 unit, left 20-5 = 15 and work left = 1600-

Now, A’s turn. 1500 = 100 units they will complete in
100

" 15

4 et 1 unit _ 1 d O 6 2 d

compiete= unitsjday 3 - ozaars ) )

1
Whole work completes in = 14+§ Q Total days = 50 + 65 = 56§da)'s
1
= 14—5 days Q
days h

36
(divide < take it to closest)

248. (c) T.W
60

Q

(b) If laborer had come for
have earned = 20><75‘=

If laborer had absented far 20'@ays he .
would have earned fined fori20x15 = Rs. Unit/day > 3 2\!
300 L 4
Pres
absented 20 30 60

: = (A) (B) (0]
@ A will do 3 units/days.
(A+B+C) will do 6 units/days

In 3 days cycle total work doneis=3 +3
+ 6 =12 units

6

60
Work will be completed in = E =5

cycles
1 cycle -3 days
1140-(-300) ycle 3 day

5 cycl 3x5 = 15d
( 1500-1140) cycle -»3x ays
79, (c)

- .

days=> 4

/
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36

Units/days

9
(A)

A’s one day work = 4 units
B’s one day work = 3 units
Since they work on alternate day they
will do 7 units in 2 days.
This 2 days cycle will continue

12
(B)

Days

Now,
W _36__
unitsjcycle 7 > Y

1cycle - 2days

5 cycle - 10 days

Now A’s turn. He will do 36-35= 1 units
of work

1
and he will take = Z days

1 1
Work completed in = 10+ " =10: days

250. (c) Always, try to do these questions with the
help of options to save time.
(T.W)

days—» (x-5)

days (20-5=15) (20
A B

Total tinie'= ———=g= d

otal time'= r3) o7 ays

1
This option not matched with 11; days take
option ‘C’ x =25

100

efficiency

www.jkchrome.com
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days— 20 25
(25-5)
1
Total time = =11—=
otal time Gra 5 days
Hence, option (C) is correct
251, (a) Shortcut : take
Effi cy .3 2
s 20 30
(30-10)
(A) (B)
60
Total time = —— = 12 days
3+2
hence, option (a) is correct
252, (a)
(T.W)
60
Efficiency = 2 3\6
30 20 10
Days> (A) (B) (€)

First day A+B works = 2 + 3 =5 units
lind day A+C works = 2+6=8 units
llird day A+B works =5 units

In one cycle work is completed = 13 units

It will continue at last, work will finish in

60

13 (8+5)

8 units of work is left.

Now, A will do with ‘B’ and they will complete 5

units.

=4 cycle and

3
Remaining 3 units will be done by A and Cin 3

days
Total time =4 cycle x 2 = 8 days
(A+B) =1 days
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3
A+C= P days
Hence, total time
=8days+(A+B)+(A+C)

—3+1+3
- 8

—93d
=93 days

253, (b) Dinesh’s one hr. work
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(A+B) (Q)
(A+B+C)’s efficiency = 6 units/day
According to question,
A should do half of the work alone as another
half work is done by B and C together.
So,

6
A’s efficiency = 5 =3 units

32  16pages B’s efficiency = 6-3-1=2 units
= — = — 4
6 3 hr B will complete whole work in 7= =24 hr.
Rakesh’s one hr. work
40
=== 8pages/hr 255, (d)(Let x is total time ta @
Dinleésh's and:gkesh's one hr. work A+B+C
=3 +8= ?pages/hr
They will finish the work together
Y 110 € L 2 A+B+C
_IW G gl ;
efficiency 3 4 1
= 8hr.15min. A+B)’s efﬁcnency 2 1 1
days 2x . 2x
A+B C
2x  2x
0 : A(x + 6 - 2x) = 6 —x (extra hours)
TN Days B(x + 1-2x)=1-x(extra hours)
6—x)(1—x)=3x>+7x—6
=0
¢ 2
=3
2 20
A alone does = ; +6 = ? hours
2 5
B alone = +1= = days
3 3
254, (b).Ac to questions, A+Bcandoitin = % hours
A= B+C (efficiency) Alternate:- .
TW Let (A+B+C)can complete the work in x hours.
48 Time taken by A = (x+6)hours
B = (x+1) hours
Efficiency 5 1 _ C=2x ht:)urs
According to the question,
1 1 1 1
48 36 x x+6 x+1 2x
Time => ?hr(Qahr) 48hr
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1 1 _ 1 1
x 2x x+ 6 x+1
X=2/3 hours

A =6+2/3=20/3 hours
B=1+2/3=5/3 hours
T.W
20

Efficiency=> 3 12

Hours=> 20/3 5/3
(A) (B)

4
A+Bcandoitin= ; hours

(b)

Efficiency - 3

Days = 9
(A) (B)
(A+B)’s 2 days work 5+3 = 8 units

40
They will do —= (5x2)=10 da
Work left : 45 40 =5 units
Now A’s turn. And he will coffipletei 1

days
Then total work complet

h X time
T4
=12 minutes
(d) Leta=8h
b—41h—9h
202

Time required to finish the work
together = Vab

= 8x9—6h
= 5=
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259. (a)
R, = 80 h
=4p/h
135p
Reon =57k
=5p/h
Ry = R(x+y) —Ry=(5-4)
=1p/h
20p
Y can copy 20 pages = p/h =
260. (b)
(x +4)(x + +20)
X% + 5% + 4x + 20)= X" + 20x — 5x — 100
9x+20 15

261. (b)

(Ganga) (Saraswati)

According to question,
Ganga begins at 9 am and she does 3
units/hours
Saraswati begins at 10 am and she does
2 units/hours

So by 11 am they complete 5 units

T.W 24
) b (4 cycle of 2 hrs each)+ 4

units left
And now Ganga will complete 3 unit out
of 4 unitsin 1 hr

time=

Now,
1

Rest 1 unit work done by Saraswati in = ;
hr

1 1
Total time =8+ 1 +E = 9Ehr
Hence,

1

Work finished at=9 am + 95 hr
=6:30 PM

262. (b) According to the question
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A—20-3
> 60 (t.w)

B— 15" 4

g days 4 days.
A+B A+C
A+B =6x7 =72

A+C—18—45
=T =4

1days of Cwork=4.5-4=1.5
. 'C finished the work

9 40d
=15°- ays

(d) According to question
4m + 6w = 8days
or
32m + 48w = 1days
3m + 7w = 10 days
or
30m + 70w = 1days
s 32m+48w= 30 m + 70w
2m = 22w
m=11w

4dm= 44w
.. (44w+6w)x8 = 10wxx
50w x 8 = 10w x x K

x =40 days
(b) Days Eff. Total work
A-12 2 0

24
B-24 1 L 2
3
4
A and B together can fihi e vﬁrk S 8
days

(a) Days | work
A-1
220
B-—
C-55 4
35

A, B & C 2 days work = 20+20+11+4=55
220
Required days = ?2=8 days.
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